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Consider a water tanksshown in the figure. | 1 = o gaifg g s AR :
It has one wall at x ='L and can be taken am('rqu-{%aﬁ-(gé;ﬁ{mﬁG;fﬁ ﬂﬁaﬂﬁg
to be very wide “in the z direction. o THaT &1 58 o g A S ST 7T o
When filled with a liquid of surface tension S and 59 & W e 3, @ 5 YD x = L 9 x-
density p, the ]iquig!fst?rface makes nng]'e @ 0 (0 <<l)f-ﬂﬂlﬂ1%|“ﬁ}(-‘)3“3ﬁm
0o(8, <<1) with the Xaxis at x = L. If p(x) is % d y(x) & frg whETT E :
the height of the surfd¢é then the equation for A <§
Mx)is: LY y oy
il o 45
0o /
5y
% 1 > x
o ey x=L
' - X
b = dl "
o L (8(x)=sinO(x) = (i) = 2 ¥, g Toed
: dy is the ¢ dx
(take O(x)=sin B(x)ﬁ,Ta'rlB(x):d—fs g1 ¥ =t .
£ Rkl
acceleration due to graz.%y) : dzy i : f;; a‘zy e
Ay _e8, g Tr_pE m 3% ¥ 5%
dzJ’ Pg dy Pg 3) d_z_}_J= Pg ‘»(4) .@: ﬂx
(3) ;x?ﬂ/? @) =~ dx? S dx S
i ; 4cm
A microscope has an objective of focal length | 2 ug geeali § 2 cm By gl &1 ey,
2 crrlrlll,c;yepie?ce of focaldéngth 4-cm and the tube wrEE gl B AR ; 40 cm WETE @1 Afear §1
leng'th of 40 cm. If the d_gtance.of'dlsylnct_V|510n aR AT H gEe g5k aly 25em%, G| ‘q:‘ﬂﬁﬁﬁ 3]
of eye is 25 cm, thei@rpagmﬁcatlon in the e & “:i
microscope is - : ! 100 2) 125
8; :23 'g')}; ;’;’3 Eﬁ 150 43 250 :
An electron (mass 9x 107! kg and 5 3 gra ¢/100 (¢ =§‘l$l$T 1) %Wﬁi-’-lﬂ?ﬁgﬁi‘i;
charge 1.6x10-19C) moying with speed ¢/10 e 9x10-3! kg, it smawr 1.6x10719C)
(c = speed of light) is gu_lected into a magnetic et it 2 e & T 9x 10— T qReamor 3 uF
— = -3 - il -
field B of magnitude 9104 T perpendicular to i & B ¥ wired e s ¥ o gEea
its direction of motion. We wish to apply an 2 ;:)5 T@ e -E gbla
= . a1 TehEHT LEE
uniform electric fieldn£ together with the g X
magnetic field so thaj,;ﬁ::c electron does not , AT EI'I:;’(? fa 3_ﬁilz3xl"lloﬁg'ZI'3r E_I?'ﬁ fagfa
deflect from its path*Then (speed of light . 'W}h @ ('FF'?T e = ms™')
c=3x108 ms!) W DI D HEG (I‘} " i < o _
- T y ELED g
(1) Eis perpendicula&--go B8 and . T 27x108 Vo %iL"'
its magnitude is 2‘7‘3104 V!
PP A T Uy o ﬂﬁmm%‘?‘eﬂrmuﬂw
(2) E is perpendiculdfto B and o 275102 V m-1 40N
its magnitude is 2102 V m~! A i o 1
¢ " _" . I 4" e A = L. LA oo i
35 is parallel fo B lind oA Lo bl
- its magnitude is 27x102 V m~! , _)" - VR ;
— -
(4) E is parallel to 8 and 4 E, B4%H’11]¥IT% 3T g@at gy
its magnitude is 27x104 V m™! 27x10* V 1 &4 o
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There are two inclined surfaces of equal length
(L) and same angle of inclination 45° with the
horizontal. One of them isgi 3ugh and the other
is perfectly smooth. A givery ody takes 2 times
as much time to slide down, on rough surface
than on the smooth surfacé“:

kinetic friction (p,;c) bet\w:ggi the object and the

oseto Y
(2) 040
4) 075

rough surface is cl
(1 025
3) 05

The kinetic energies of twolSifnilar cars A and B
are 100J and 2257 respcc%sfe‘ly. On applying
_ breaks, car A stops after Ioﬁilm and car B stops.
after 1500 m. If F 4 and Fpargthe forces applied
by the breaks on cars A and{Bj respectively, then

the ratio F/Fg 18 i3
5 i“iaé

m 5 @ 5
) L i
@ 3 @ 7
{33

. ¥
6 The current passing\thmug‘h’nﬂae battery in the
given circuit, is; ‘g 4

04

“The coefficient of

3) 05

Rt
(1)7 204
(3)-2.54 @) 154
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A bob of heavy mass a1 is suspended by a light
strmg.of length 1. The bob is given a horizontal
velocity vy as showi in figure. If the string gets |
slack at some poin{’” making an angle 9 from
the h(_mzomal, thcr};z_l‘licn of the speed v of the bob
at point P to its ingi-gtl speed vy is:

_ 8
&

: 087l

“ 1 !

% 4 o
\\‘“ l P

m

M) (sin0)/5 f’

2)

i
e |

rl)%

\2+3sin @

G)

£,
cos B 4:2(
\\2+3sin@

1
( sin® ]A

\2+3sin 0 J&%

(4)

- 8
The output (Y) of the given logic implementation
is similar to the Olilt‘pllt of an/a gate.

(1) AND

o (2)- NAND

(4) NOR

The electric field jia plane eleclmmagnetic
wave is given by 0

E. =60cos (5x+15x10°1) / m.
Then expression fof the corresponding magnetic

, field is (here subseripts denote the direction of
the field) : o

M By=zx10';§as (5x+1.5x10%)T
(2) B, =2x10"cos (5x+1.5x10%7T
(3) B, =60cos (5x+].5x‘1—09.f)?‘

() B, =60sin (5x+1.5x10°)T

45_Hindi+English | @) ' \P 4

e O i C‘D\ O D \-\’\

@Wﬁmfaﬁmm

wrdy g m & %) e @ O AR 3 v, e

ST & et il

Wﬁmzﬁmﬁ%ﬁgﬂa&ﬁmwﬁmﬁ%%ﬁ
3 0 w1 T g g P T IR 05 o ¢
g P i o AT VBT R
& orgaa &

(1) (sin 9)%

3

!‘-‘.
A

@ (2+35ing),

cos 0 {%‘%

(2+35in0)

l .
sin O A
(2+3sin Qi)
&8

ﬁqwaﬁma@%‘mwﬁ’h Y
e % frf % Wy e
A =¥

1

B ) Y

A | o
I e

W T - e ¥ g a

£ =60cos (5x 5% 10%1) / m &r01 =

foar st ¥ 1w Jaag T
&ﬂa&&anaﬁﬁgﬁgmﬁ)?ﬁ%@mmﬁ

T B, =2 lﬂgcos (Sx+1.5x10°0)T

@ B, =2x1008cos (5x +1.5x10°0)T
3) B, =60cos (5x+ 1.5x10°0T2]
(4) B, =60sin (5x+I.SxI09}j}'?(
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A ball of mass 0.5 kg is dropped from a height
of 4[? m. The ball hits the ground and rises
to a height of 10 my¢The impulse imparted to
the ball during its collision with the ground is
(Take g = 9.8 m/s2)1 e
(1) 21NS *2) 7Ns
3) 0 {4) 84NS

N

AB is a part of an elttrical circuit (see figure).
The potential differefdé “¥, - V", at the instant
when current i =2 A #hnd is increasing at a rate
of 1 amp / second is:

QI P!
1H

1y

| —AAA
By 20

532} 6 volt
i“"” 10 volt

A2 amp current is ﬂmng through two different

®*B

(1) 5volt
(3) 9volt

. small circular copper,cils having radii ratio 1:2.

The ratio of their resp&cli\re magnetic moments
. 5

will be :

(N 1:4

(3) 2:1

i
(2) 1:2
@) 4:1

In a certain camera, a'%gmbination of four similar
thin convex lenses_are arranged axially in
contact. Then the power of the combination and
the total magnification in comparison to the
power (p) and magniffcation (m) for each lens
will be, respectively &4}

(1) “4pand 4m  Y@) p*and 4m

(3) 4pand m* ‘(:1;4) p*and m*

An oxygen cylinder of volume 30 litre has
18.20 moles of oxygen. After some oxygen is
withdrawn from the E}fginder, its gauge pressure
dropsto 11 atmosphgif pressure at temperature
27°C. The mass of thejoxygen withdrawn from
the cylinder is nearly-equal to :

00 | S,
[Eiiven, A=s J"EQJ-IK I, and
molecular mass of OF%F 32,

1 atm pressure = 1.0T% 103 N/m]

g Y2

10

11

12

13

14

(o

\;5, QXX Uo

ve.

&
'QO ‘-r'q
%1 x 3o
F

AT 0.5 kg P 0 7= B 40 m & Sré & Proar
ST ¥ | 4T ¥ T ¥ el 10 m & Sard
T Todl ¢ HaE & Wy dugz # ety ¥ i @

v AR E (=98 M R)  omV
LA

1 21 NS 0@ TINS gy

.30 [~ (4) 84NS

<

AB R R ey 7w s & (e 38 o
aor, f78 97 & i =2A ¥ i 9% 1 amp / second
& ST A 92 T, Rnrareat <V, - V%

5V
ir}
:.,?M6 volt
L4 10 volt

i

(n 5vqlt
(3) 9volt
2 amp ® TH GTU AR B @ = B gEm
gefrdl, R BTt @ orger 12 ¥, & et
s T &1 T e ol 1 o
A . o

14 (@) 12
(3) 2:1 @ 41
Rt A, a@wmmw%qﬁ

ﬂ'ﬂ\m?ﬁ}wﬂfa@mmﬂmﬁmmtmﬂ
mﬂ%fé{qﬂ‘?ﬂ-@)ahmﬁﬂ(m)aﬁ_w
3§, e @ awar o gw e €, wE: —
(1) 4p AT 4m ?}‘3(2) ptaftam X

& dpsiemt () pt ot m? %
e 30 litre % U sifeder fafest & aifaier

¥ 18.20 moles ¥ faftiet & 3B oifadrer &t AT

frere o % 918, SEEE W @ 27°C araEE 9 11
argesda T s Rt ¥ fafisT & an Prard
nﬁmﬁ@mwmﬁfwwm%:

100 =¥
[ %, R= l—,},:lénof‘l!f",eﬁ'(oz &1 anfead

i
FoaE = 32, | alm‘%% =1.01 x 103 N/m)

(1) 0.125 kg ) 0.144 kg (1) 0.125kg  4(2) 0.144kg
(3) 0.116 kg (4) 0.156 kg (3) 0.116 kg (4) 0.156 kg
4 X d...
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In some appropriate units, time (r) and position
(x) relation of a moving particle is given by
1 =x2+ x, The acceleration of the particle s

1 20 . By,
W Gy @ (2x+1)
-c;f! ;
2?\; 2 e :
O ey @ tma
;_i :
To an ac power supply of 220 V at 50 Hz, a
resistor of 2?!2, a capacitor of reactance 25

and an induct;gof reactance 45 Q are connected
in series. The ch‘esponding current in the circuit
and the phase angle between the current and the
voltage is, re Cpcctwely -
(nH 7.8A an-;l,;i{}" (2) 7.8 A and 45°

(3) 156A i]:? 30° (4) 15.6 A and 45°

The Sun rotates around its centre once in
27 days. What will be the period of revolution
if the Sun werg to expand to twice its present
radius withoé;any external influence? Assume
the Sun to be & sphere of uniform density.
(1) 100 days~ (2) 105 days
(3) 115 dayg'_?: (4) 108 days

i : bl

13

A model for Guantized motion of an electron in
a uniform mé"giietic field B states that the flux
passing through the orbit of the electron is
n(hle) where n is an integer, 4 is Planck’s
constant and & is the magnitude of electron’s
charge. Acco&img to the model, the magnetic
moment of an glectron in its lowest energy state
will be (m ls;the mass of the electron)

i
I.TE 'J?E
HE:
m — L"; (2) >
N '
.’IBB heB
O @y, q?(
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1) 73%300M73Am450

3) 156M1‘r<303°(4) 15.6 A afiT 45°

ad 27 Rt ¥ 0@ &t 36 % F W T wTEr
¥ 1 ferwr it T B At g o IR T e
%ﬂ@waﬁmﬁlﬁrmm%mwﬁmm?

e

T F qHA T B GF e A H
Q) mo% (2) 105 fe
(3) 115 & 108 f&
Ly |
T GHEA R A B ¥ U TERiE 1 ddgd

Tt & g U iew a5 we ¥ 6 geegi o BET
A BT I AT S n(hle) ¥ SE 1 OF qiE
&, /i Pegies & ol e oI % amer @ o
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Th - - I
ree identical heat conducting rods are

connected in serj
res as shown
rods on the sidesify wn In the figure. The

:{:tlherrnally insulated from outside. In steady
‘hate, te]:npc?ralu.re:g?t the left junction is T, and
at the ngln_]niygtion is T5. The ratio /T, is

N >
3T 4 2k |")x [k Er
-
A 7 T ~
3 iy 4
M 3 © @ 3
2
5 - 5
@3 @2

N
The plates of aiparallel plate capacitor are
separated by d. Tywg slabs of different dielectric

d
-2 £l
respectively are inserted in the capacitor. Due to
this, the capacitance becomes two times larger
than when there igothing between the plates.
If Ky = 1.25 K, the value of K is :

,—i :
constant K; and K, with thickness %d and

(1) 2.66 e (2) 233
(3) 1.60 ;’f—: 4) 1.33

Two cities X and¥ are connected by a regular
bus service with 4 bus leaving in either direction
every T min. A giff is driving scooty with a speed
of 60 km/h in thedirection X to Y notices that a
bus goes past het every. 30 minutes in the
direction of her motion, and every 10 minutes in
the opposite direction. Choose the correct option
for the period T of the bus service and the speed
(assumed constant) of the buses.

(1) 9 min, 40 L:%é; (2) 25 min, 100 knvh
(3) 10 min, 90 h(4) 15 min, 120 km/h

A uniform rod of ‘mass 20 kg and length 5 m
leans against a sifidoth vertical wall making an
angle of 60° with“it. The other end rests on a
rough horizontal fiSbr. The friction force that the

floor exerts on thexfod is (take g = 10 m/s?)
@ 1woN T @ 10043N

(3) 200N (4) 20043 N
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19 0 e o v gt fry 3 i g -
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TR 2K ¥ Sl 9 2 vy 2 s awmm
%l@m#wﬁﬁ%ﬁmﬁ3TﬂaﬂTm§m§
il "9 = S i #1 w¥ A @ aes ¥
o 3 G o 7t |
Hfirmmwzé%mgm T, % |

£ = k.
3T 4 2kupy k | 2 ?jr
A 7 v p
R R |
3 4 \ |
M 3 @1 &
5 Ly 5
3 — e =
@) 3 & ¢z
ta)

=t Wﬁgﬁiﬁgﬁar: K) ol K, it wrerddi mmar:
3 {
Edaﬁt%%wﬂﬁfhﬂm’faaﬁmﬁaﬁuﬁq
AT AT ¥l q_%rmmﬁm,aaw&zmaﬁ%ﬁa
PB TE € a9 B geren ¥, T aifes € w3
AT Ky =125 K8, @ K, s o & :
(1) 266 {2) 233

3) 160 4) 1.

3 i @13

21 R 91T X ot Yol Prarr v v & g g ¥ o
ad®E T min {ff%ﬁ) A um 9y fedl N e R s

feg et & §§:kmih (P perzr) @ =t % wg X
ﬁvﬁanﬁ@:jaﬁgmm%ﬁrtﬁam
30 firrz ¥ o g5 S Ty A R ¥ o v
10 firre % g 9 awa faadia fean & sad o #iwT
'ﬁﬁﬁrtlﬂ'ﬁﬁgﬁ[ﬁﬁlﬁﬁﬁJTeﬁtaﬂ’fﬂﬁw'(ﬁuﬁ i
At ) & fog wé famer o L
(1) 9 min, 40 km/h (2) 25 min, 100 km/h .
(3) 10 min, 90 km/h (4) 15 min, 120 km/h q’

A

22 mmzokge%gmma&‘rwwusw
Rt wod Srarg T T W 60° W AM AR g @
fear ¥ 1 T g0 o0 us geEt 4km aa W
ferrreren & ¥ | @ wedor @ S 6 o, B3 9T amifE r\jy,a;;-
s &, ¥ (g =10 m/s? ) -Hé
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".l

@ 200N 1 @ 203N g < !

]
[ 3

<
[Contd... ¥

% ¢ @ &
A \10 \(>\ &Y%{\C A

o 2 : \
T RN ot & |
$rs T A

Scanned with CamScanner



=

A

23
!XZ%;
148
!‘t‘..

{7
I::"F‘;'
i

]
e

A
il
LIy
I
i
it
47
%

@ 4w

45_Hindi+English |

In an oscillating spring mass system, a spring is
connected to a box filled with sand. As the box
oscillates, sand leaks slowly out of the box

vertically so that the average frequency ®© (r) and

average amplitude A(I) of the system change

with time #. Which one of the following options
schematically depicts these changes correctly?

4

=/

o) [

® ,«,)'K
R
e

w(r)

|

3 AQ)

{
w(r) ¥
\_’

Y

23
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o Prodt ¥ Pored 30 Prara @t ofvea aght o(r)

¢
| afrt ol emEm A[r)mr%mu;qﬁaﬁas}ﬁ
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amrdra wy @ wafia & & 7 £y
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| 24 A balloon is made of ; ! .
E Sand its jn fMlation oul? (o of surface fension | 24
i in i from where pas ; memtga?%ﬂmﬁﬁﬁﬁataﬁr |
! I 1t) has sma]] , ,Ct{ ) ere pas is filled +
] density p Ia:d t:['?e r:.q“h's 'ﬁ”fd il et ;ﬁﬁ’ﬁmmmﬁﬂﬁﬁmh St !i'
: R When the gas is"f;lln;\idc:rl}clnlns\ﬁgsc?; ot s & sh ax foroar 2 i e |
. it, 1ts radi . ot o G 19T 1
', 7 II 1§ a}gfz;;'eﬂlxl%es; grmn‘R t0 0 (zero) in time W B T vy T AET gIied B Fra :.
b, balloon chEﬁds Dii!:ib 'iiiommsg out of th:; Eﬁﬁmﬁ&w 7 WA T RECO (ar) 8 oy ) |
B e a F R irg j
RS T'oc S%4B pY Rigthen " F Wy A %mTﬁrh g‘j: vﬁ‘r):;e; ;‘T; |
BEDEs <o 1 N & & : 3
» : (l) G':-"".Clt ﬁ:—].7=+|18=_§_ ___I' __I _ C\.’ 3 "‘
i | 2I g;l ] 2 " (1) aq 2’“'_2’6_‘-],'}'E1‘I.6'—'E :
2 S-mamsdo g1 o ' :
¢ @) a S 2.B Ly= 2,8—-2— 2) az*i’a:_f’ﬂ—'r'}’:*%j:; £
. e—— =t gy, 1 - 7 I 1 B
& ey es-gBe-ly=15-2 @) a=-ga=-gp=-iy=1s-] |
b ! in I 1 7 . a‘
4 A==, == B=—-_ 41 il _l ] 1 LY 7 1
. ( .) 2 o Egﬁ 2!}' 216 2 (4) a_z'(::-z-'ﬂ:-g'tﬁi a:.z_ :
R 25  Consider the dia ter of a spherical obj i o
T measured with the.help of a ‘Veraior keiir® | 25 s bfved @ wo T 61133 s et g
.3 Suppose its 10 Vémier Scale Divisions (V.S.D.) & =ard 9T fram B¢ )9 & % §6% 10 affay t
e are equal to its 9 Main Scale Divisions (M.S.D.). 9T faure (V.S.D.), 9 qed dary uy Favror k.
A The least division{in the M.S. is 0.1 cm and the (MS.D) & ararEIM.S. | ST R 0.1 em E
zero of V.S, is atw = 0.1 cm when the jaws of tol VS . #rax=0.1 vt ¥ safs afimr Sagd
- Vernier callipers are closed. ¥ wad a= 1 aft =mm ?hﬁ‘-m T 4 @y
If the main scale reading for the diameter is _ % M=5cm¥ ol Gt aFiar e 2w
% M =5 ¢m and the number of coinciding vernier m e % N
# division is 8, the measured diameter after zero » A 94 e UR % weaq s
£ error correction, i$) - (1) 5.18cm (2) g&ﬁ cm
(1) 5.18¢cm o0 (3; 5_03 cm (3) 498cm (4) @2 cm
- (3) 498cm tn ( 5.00cm - : L i
: 26 afezaait & i afeesr duiis
g 26 A parallel plate ciipacitor made of circular plates 5 UFT AR R ;ﬂi A afzl
! is being chargedssuch that the surface charge o pt-Sepeni e Prow ot @ 75
-y density on its plates is increasing at a constant R sl 7 8% A g
o rate with time. The;magnetic field arising due to : U= EM A
displacement ﬁur;lrgf:?is : -ﬁ_‘;—tw ¥ e i o A
'3 1) zero at all pldces ; - ;
oy 52; co:mctlanlt tl;jéftveen the plates and zero Y ufezmel & @ fraa ot el ¥ amx H
- e outside the plates 9 . :
. L (3) non-zero evsrywhqre with maximum at the 3) qgwa.ﬂ‘ & aftfygy =) sss a3 Emﬁai)q L
B imaginary cyIitI:drrcl:al surface connecting ATHIT 3 T siftrpam B0 % ey w4 SRt t
eripheries of the plates fzzme % 9 I AEET SR _
¢ g 4) gc::op betwe%ﬁ the plates and non-zero (C)) st & ol o ‘
outside (X 27 @y F T HTEAr BT UF GIHWWTW &I i
£ 5 27  An unpolarized }fﬁm beam lm_vel[in in air is 9T H9adHie 1.73 & UF ATEg 9T Sifad s &1
iz | incident on a medium of refractive index 1.73 at . — o
r Brewster’s angle*Then- : qEfaa @ gui: BT ¥ o W
e | 1) reflected light! is completely polarized and 600% e B B s
4 ( 2 o @iy LY
el the angle ofifeflection is close to 60 @ o gt ot (ﬁﬂi % ol vad |
| <O e e et e
. reflection is close to : _ ; ; £
sl 3) ggtgf!.erzﬂccg and transmitted light are (3) uwEfaa et @afta gt ﬁhmag g
il perfectly polarized with angles gfﬂ‘-‘ ection ST Bt wHaT: 60° ot 30°% frae
| and refraction close to 60° and 30°, & gy ot w9 A yf ¥ a
j rcspectiveg’ light is completely polarized @ gﬂﬁ-ﬂ it Gﬂﬂﬂ;’ Y% 100 B
. itted light is ¢ |y gofa: yfea ¥
o @ ::?t?ls.:tl:lgl'e of refraction close 16 30° Tia
- ' 9 o [ Contd...-
: 45_Hindi+English ] 2 |
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28 l“’odldclmcal charf€l conducting spheres | 28 @) wdua omifi wres et A 6T B & = 0z
and B have their cenftes separated by a certain Prfyea g0 @ gugp &1 WEw Tﬂﬁ Ut &N q ¥ sy
distance. Charge on cach sphere is q and the % g w1 ufrede ga | oF et wdfay
f:;rcc 01' repulsion lu.t“cul them is T, A third AR TeE T @ IEe A aﬁr IS 95 B F
Identical uncharged cn lucting sphere is brought wuds
£ in contact with sphere A first and then with B ﬁ b s amﬂﬁ z‘}" g
et I 17l A alt B (A it B #xfrand gaw gt 5
mally removed [rdom both. New force of
+ repulsion between splictes A and B (Radii of A g ¥ 79 e e € P ot A & aw ) o
plie ( yav-
2, and B are negligible compared to the distance of % Rrq o= Rrg smdtar s o %) % wter w1 g
= separation so that for calculating force between st aet wedt orad @ @ "Tgﬁ? Rt ot o
them they can be l..onsld'..red as point charges) is t:
best given as : ol
() o @ |
3F 2F s
v o m & = ‘
3
4 F g 3F ® 5 "I;t
i = ["
b @ 3 e |
o _ N 29 wH O ¥ et V) = 2c-nré‘éﬂ-c ¥y =3 litres %
29 A container has twEthambers of volumes ‘us Fomot Tard @ 29 I gus feg
Vy = 2 litres and ¥, = 3 litres separated by a T D yers ¥ ywresy A 13]- = | atm 3fft
partition made of a thermal insulator. The b L i
chambers contains 7 = 5 and n, = 4 moles of - I i i "Iﬂ‘h.l%wﬂﬂﬂ fy~irctcs
ideal gas at prcsslif es py = | atm and S 1 = 4;'0]&65&%' il T VL B
Py = 2 atm, respectw%;ly When the partition is & @ s m—uﬂim FAME :
®) removed, the mmtu:ir:ﬂ_anmns an equilibrium (1) 1.3 atm 21" 6 atm
< pressure of : - (3) 1.4 atm (4) ¢ }5 atm
¢ (1) 1.3 atm (@) 1.6atm .
3 (3) 1.4 atm 4 1.8 atm 30  FEEE m W UH S UG F & 9rg ama @
®f diad 57 Tafag RIGLIES
30 A particle of mass m igglovmg around the origin g?qgﬁmﬂj% & qn{:irqﬂ,—ﬁ‘r:ﬁ,- ﬁz ;P-i-ﬁm F
with a constant force F pulling it towards the T fear WA &, dt #dt wEnt St - oit ﬂ
origin. If Bohr model is used to describe its & . B‘W! .ﬁﬂ_{ il
motion, the radius 7, of the »'™" orbit and the il e
particle’s speed vin t gorblt depend on n as () recnl/3; yocpl/3
- I, . !
: (1) renl’3; voc!fi‘m @) renll3; voc,,m:g
(2) recnl/3; vocgfﬂ T ren23; v n|f3;.fi N
B yian | a
_ : 31 W ue & gd F g o & %Fﬂmgﬂﬁmm
31  The radius of Martian orbit around the Sun is @1 Proar | s 9re g ¥ AT TE X 0
about 4 !r'.mes the radius of the orbit of Mercury. a4 ) ol 687 gedl & Rl & wwey ¥ @ A
The Martian year is 687 Earth days. Then which frr=falaa 7 O &4 O1 Mg Ju gt & a9 1 arafy
of the following is the length of | year on aofar & 7 O
Mercury ? ©
(1) 88 earthdays (2) 225 earth days (' ssyeli & fm  (2) 225 70 & R W/o
(3) 172 earth days (4) 124 earth days @) 1myEdshka @) 1249y i
":-
45_Hindi+English | O ¥ 10 o N HCMM ‘5
O
? / « 1 //;D 3 /(9
Y 2, sxRT 4 SURT 3 kI =$
¢ ¢ dtoy _SART L OORT L IR Yeia o8
x oX 1 3X 2 Py 7R L,,Lx



NS o S Sk
' |v
(2 gl Fe SKg goxtr o & R
| £ 9
! Av + 32 A body weighs 48 N on the surface of the earth. 32 U fyus @ e 9T *ITIA@_L\L@,I*'!EPI @l ’E;‘;
' The gravitational force experienced by the body o Pl & Sﬁ:ﬁﬁﬁ Tt Farg WY '
due to the earth ata hcighli_ ual to one-third the 1o fios g ATHE ﬁ;m"ﬂ;’im me qAL
r F];c)lius ;;the earth fro:; ;t%‘?fce is : (1) 16N .27 N
1 i el
32N (4736 N
(3) 32N ) SN N X
33 A wire of resistance R is cliinto 8 equal pieces. [ 33 afrag R'E'EQEH-HIT @ 8 ?ﬂﬁﬁ 5| A &Il Wh
From these pieces two equ ‘*Iﬂlem resistances are 7 gl @, T ¥ | Eﬁﬁ;@ﬂﬁ:ﬁﬂj B
made by adding four ofthegt;!(ogclher in parallel. HT, & g gfercrer a=Tg W & 1 aeeEr 1 a ad
Then these two sets are added in series. The net g dof-—w A WS fora T | €A B Iz gwrEl
effective resistance of the combiration is : e & {lg
; i
£ i | 4 R
i 9) ki _}_i'_ K
. M “g = @5 A
R N i
3) — 4) ¥ R iR
G) 16 ()?;?r G i (4;,:3 X
i o ; '
34 De-Broglie wavelength of gojelectron orbiting in & 2 ¥ srd
the n =2 state of hydrogen atom is close to | 34 LRSI e '*ﬁaw' AT
(Given Bohr radius = 0.052?11-:1) % g @1 a-gre ke e # (R T #
(1) 0.067 nm (2) 0.67 nm ?‘g ﬁ:)a?]vé; }?.052 nm) o
i m ;
(3) 1.67nm (4) 2.67 nm e @2.67 om
35 An electric dipole wm “dipole moment @
5 x 10~ Cm is aligred \;.it_]] lhet_dlrectm:! oga 35 fayd 5% 100 Cmf& YT T mﬁﬁg
ifi lectric figld © magnitude 5
:nxl ]%gmN!(Ls ’?‘;e :li?pole is then rotated through ;ﬂgﬁ'l! Jildd ‘éﬁ’;_[];;gf Zs_a%@ﬂt-"w'a@a?rqaga
an angle of 60° with respect to the electric field. i b ﬁFfﬁ'ﬂT by
The change in the potentidlenergy of the dipole qraE 60° & 3 o @y
is I3 Rerferr St H qﬂ'ﬂﬂﬂw
(1) 0.8J ()07 (1) 0.81J 41,0
@) 12] (4)d5 @) 121 ) 1517
36 A constant voltage of 50 V is maintained between .
th:D;;'ir?ts Xoang B of the circuit shown in the 36 30 Vﬁiqﬂiﬁ'ﬂaiﬁéﬂm‘[ﬁﬂﬂ E-‘?ﬁq;FQqﬁq
figure. The current throughfthe branch CD of the Rrgait A ot B & dre g T €
circuit is : . qr@r CD & B T A o ¥ "
c o C ™ Q’j .
1Q Q 10
?4‘2 B A B
i) @
30 |plio 30 o /
A
9 ok >
\ [ I P
! s 1™ b
50V e ﬂ, 50V
Loy (1) 154 (2) 204 9 ( 1y 154 0
No 79 @) 23y §© @ 304 49,., s e @ 204 Q) »,%
) ha iC . (4) 3.04 % i
- a5+ /Q &9 0 Co B2 \',‘{
Sy O 00 S o o
o o\ ' Y S eSS
(/ & 2 3}" L AV N ©
t:!.,_sl'z' %—’jb’“:-"‘—____ '\P/ o 7@&53
& Tasp R 15@ i (Sy Q0
LY &1 R g
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A photon and an electron (mass m) have
the same cnergy E. The ratio

(lphmon /lelcclron) of their de Broglic
wavelengths is: (¢ isithe speed of light)

(¢
(1 J‘%m l[‘f(z) e\2mE
2 tj! 1
m - 3z 1 IE
G o) N@
i :
Which of the following options represent the

N
variation of photoelectric current with property
of light shown on the x-axis?

&
g % @
5
g E
A 28
=0 >
Intensityiof light
.
¢ T
25 i)
g E o5
B, 2° 2]
& l—= >
Intensi®y of light
7
25 ;
g5
' C. .g &
P N
0- u’ . 7
quuﬁgcy of light
£ 8]
=
=
AN

1N

Photoelectric
current

N

il

0' TOF rd
Frequency of light
(1) Aonly (2) AandC
(3) Aand D (49) BandD
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ol £31 1 3 ] @1 AT
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¥e} i
@ o= o S im
0
i
38 Preafef A @ 3 R sama-dga T %
x-a1e1 G 29T Wl wentr @ fagiaar % iy afEda
& Prefud 5 &7
7 v -4
A,
Eo- : >
srﬁfﬁ?ﬁr‘cﬁam
o
g §
ET o
7|
B. E o \
O @ A
<
E o
Y
E—a (R
|
C.
Eo- ry >
BT Gllﬂﬁl
i)
Eg
HE:
o
T Eo E: : S
; vl H g
(1) ‘¥aw A @) AsircC
| N AdRD () BaDX
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40

41

sphere of radius 2R as ghpwn in the figure. The
ratio of the moment nertia of the smaller

sphere to that of the restppart of the sphere about
the Y-axis is : <

PABE.
1£)

=0

A sphere of radius R i%jnt from a larger solid

5
7 a1
M3 qﬁ 40
7 o 7
@ @ =

A full wave rectifier circuit with diodes (D)) and
(D) is shown in the figure. If input supply
voltage V;, = 220sin &]_;]On f) volt, then at f =
15 msec

< p,

e 3l

(1) Dyis forward biased, D, is reverse biased
(2) D, is reverse biased, D, is forward biased
(3) D, and D, both gge forward biased
(4) D, and D, both grg,reverse biased

Two gases A and B are filled at the same pressure
in separate cylinders §vith movable pistons of
+
tively. On supplying an

radius *y and rp, rcs%
equal amount of he@tyto both the systems

reversibly under constagl&pmsswre, the pistons of
gas A and B are dispir(_:gd by 16 cm and 9 cm,
respectively. If the chang in their intemal energy

r -
is the same, then the ratio %B is equal to

4 3
.5 @ 3
@ F @ lf-

45_Hindi+English |
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@1 firr o zoife aare B 2R
i/ ATl 21 Y- & anE

, BT T & 19 AT & TS
g ST &6

X

=
<=

7 ks;’iz b4
M3, [;:U 10
7 7
3) 57 Sﬁﬁ‘ra
£
TS (D)) 3 (Dy)3 §a T T @t el
qﬁqﬁﬁ#ﬁﬂﬁnﬁ%ﬂ%lqﬁﬁﬁnﬁmzﬁm
V,, = 220sin (1007 7) volt ¥, @t 1= 15 msec T

D,

7

V,};E':' | |

S D, smfefirs adftd &, Dy gyaffis

gt & ‘:
@) D, uyaRfis atatea &, D, SpIEtEe
i ©

(3) D, 9 D, <t smifefirs amafta 2

“) D,aﬁTDza‘rﬁ’fgﬂﬁﬂmmfﬂaﬁ

a’tﬁﬁAaﬁrBw‘m?mmr:ﬁmg 3T rp
¥ au feAl & iy t:mﬁ?ﬁﬁﬂﬂﬁﬁh%la‘ﬁ
framal @&t Fraa T@ ,;"[-"miﬂ g ¥ o
B THA HE B FT 9K 19 A T B & e
Eliqw:lﬁcmaﬁ'(9c€ B 9 ¥ 1 O 5

w%mﬁﬁ%w%,ﬁmqmr%
B
qrET

iy, = 3
M 3 @ . 3
)
2

2
(3) Nl 4)
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b

A physical quantity P is related to four
observations a, b, ¢ and d as follows:
P=a3b2/cld
The percentage errors of measurement in a, b, ¢
and d are 1%, 3 c? 2%. and 4% respectively. The
percentage errc&jn the quantity P is
() 10% r= (2) 2%
G) 13% =@ @) 15%
: 0N
The intensity of tfansmitted light when a polaroid
sheet, placed between two crossed polaroids at
22.5° from the polarization axis of one of the
polaroid, is (/ is the intensity of polarised light
after passing through the first polaroid):
Ly
lo o 1o
(D 3 LA (2) 4
L
) 3 Iy -
®» 57 o @
iy
0
Two identical peint masses P and Q, su spended
from two separate massless springs of spring
constants k; and" ky, respectively, oscillate
vertically. If thdirmaximum speeds are the same,
the ratio (4/4 jof the amplitude A, of mass QO
to the amplitude.A p of mass P is:
. =p
O B
K £y ko
od
4
3 @ i
@ 7 ) '\,
LE
X
A pipe open afboth ends has a fundamental
frequency f if™air. The pipe is now dipped
vertically in a Water drum to half of its length.
The f‘undamentﬁ[gﬁequcncy of the air column is
now equal to e
rf
ay L @ f
2
3f
G = @ 2f
14

@mﬁ%ﬁﬁ&lwﬁmﬁq,b,cmdﬁﬁwgﬂﬂ

Feafe @
p=a3b2/cdd
a, b.caﬁTc}ﬁmﬁﬁnﬁimﬁgﬁﬂ?ﬂﬂﬁt 1%,
3%.2%,@1@4?11@1Pﬁqﬁmm3&%
() 10% ™~ (2) 2%
13% = 15%
o g
g}
i W B A, 9 OF g TR B R
ﬁﬁﬂﬁﬁﬁﬁ%ﬁﬂ,ﬁﬁé@qﬁﬂg%w
amﬁZZ.S”‘ITT@Tm%,%(ﬁ?ftﬁﬁﬁiﬂﬁW
% am yfa gyt A At [ B)
o) Ex
0@
<
™
58
(£
e
e it mAan &, $C &, @ 2 gue g
R & Prefeaa ) wam g wege P et Q S
e H T, s atftrmed A @A ¥, @
g Q & &AW Ay &1 T P & S Ap %
mumjma(gﬁmp}%:
k™ Ky
— m ks 9%
1
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The ratio of the wavelengths of the light | 46

absorbed by a Hydrogen atom when it undergoes
n=2 - n=3and n=4 — n=6 transitions,

46

respectively, is

@ 16

(4)

1
G) 9 i

5247685

o \
Which ofthﬁollowing statements are true?
A. Unlike Ga that has a very high melting
point, Cs has a very low melting point.
On Pa{mng scale, the electronegativity
*N and CI are not the same.
, and S2~ are all

47

B.

values
Ar, K'pClI-, Ca?*

isoelectrdnic species.

The ccﬁ'lect order of the first mmzanon

enthal e‘I of Na, Mg, Al, and

Si is Sj.3 Al > Mg > Na.

The atomic radius of Cs is greater than that

of Li and Rb.
Choose the’Correct answer from the options

given belout;;ﬂ i

(1) A, B, gnd E only
(2) C and Efonly

(3) C and Bbonly
() A,C, qd E only

C.

D.

E.

e | 48

Match List I with List II

List I List II
(Ion) l'.lﬁ (Group Number

W in Cation Analysis)
Co?* - 1. Group-l
Mgt & 1.  Group-III
pp2+ € 1. Group-IV
AP i IV. Group-VI
s Choose the,correct answer from the options

48

Sows

given below :

(1) A-lll, B-IV, C-II, D-I
(2) A-ll, B-1V, C-I, D-II
‘(3) A-lll, B-II, C-IV; D-I
(4) A-Il, B-Il, C-I, D-IV

45 Hindi+English |

Fox )—"—

W4 U 1SS UOHTY FASE n=2 — n=3 &
n=4 — n=>6dHIY HIAT &, 9 FHAINIA THIT

% win-2edl &1 orgard

&)

M 35 16
L

G 5 53 N

ﬁmﬁf@ammﬁaﬁa—ﬂaﬁ:

A. Gaﬁ‘rmﬁlaifﬁuﬁrnm% ¥ Pt Cs a1 )
ardd et e €

B. wrsfin dur o N ofiw Cl 3 faga-
HONEEHATH &6 | GHI 61 &1

C. ArK*, CI{;g:aZ'fe.ﬁrs?-wi’rméﬂﬁ#r
w1 gy

Na, Mg, A5t Si &) werm s gfeaat

D.
w1 wE F9 gooi > Al > Mg > Na. ¥
E. Cs# LlafITRbﬂ?rtlTHT?;--'
hmaﬂﬂﬂﬁi?ﬁﬁ%l
(1) ¥ A, BSREY
2y ¥ C o)
(3) %aw C oD X I
(4) ¥aa A, C@E X r
@-Im‘ﬁﬂllﬁuﬁﬂﬁﬁm
WL T
(3maA) (A fagemer §
Y AYE )
A. Co** oy I EE-l !
B. ' Mgt g I, -1l |
C. Pb* aql L. we-1v
D. APt IV. wE-VI
ﬁ&mﬁﬁ%ﬂmwgﬁm

(1) A-lI, B-IV:-€-11, D-I
A-lll, B-1V, C-1, D-1I
(3) AL, B-II, C-1V, D-1 X
© (4) AL B-II, C-1, D-1Vix
[ Contd...
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Predict the major product ‘P” in the following
sequence of reactions -
L5y (i) HBr. benzoyl peroxide

49

'E‘S’ (i) KCN _» P
'l:t-' (i) Na (Hg)/C,;H;OH  (Majon)
-

4+
h
™ o Ol
(n { H,NH. 2 H,NH,
QCHJ C
' ) CH,
(3) . ﬁ 7

in
iy
Energy and radius of first Bohr orbit of

He' and Lr'*’-"' are
2.18 x 10718, a; = 52.9 pm]

[Given Ry=

(1) E,(Li% )= —19.62%10-18J;
r (LH =17.6 pm
E,(He?) =-8. 7210718 J;

r,(He*) =26.4 pm
E,(Li2*) = -8.72x107'8J;
r (le*} 26.4 pm

E (Hﬁ) =-19.62x10-18J;

(2)

r(HE = 17.6 pm i
(3) E,(Li%) =-19. 62x10°163; .~
r (L:zﬁ 17.6 pm
E (H’éﬁ)— -8.72%x10716J;
r (Hc =26.4 pm
4 E (Ll ) =-8.72x10"16J;
r (LIE' =17.6 pm
E,(He*) =-19. 62x10-16);
r (Hei"] 17.6 pm
93]
51+ Which of We following are paramagnetic?
A. [NICL{] B. NE(CO)4
: | 2+
o [N.(l’:N)d [Ni(H20)6 |~
E. Nl(ﬁPil;)4
Choose the correct answer from the options
given below:

(2) B and E only

(1) A and C only
(4) A, Dand E only

(3) A and D only
45_Hindi+English |

16

49

50

51

aﬁﬁmaﬂ%sﬁmﬁaﬂmmgmﬁgmm‘waﬁ

Qﬂﬁﬁ T - Le)
(i) FIBr,
Q/CHJ SKEN L » P
(iii} Na (Hgi:_;(; H.OH (Em)
(|
Q‘“"’ o (O
~(«|')/ H
CH,NH, N,

NC

(3) NC Lig) ) :
e

U]
He* offt Li2* ) Swiiq piiv wer @I et ol
ot ¥ - o

(R T & : Ryy = 218500718, a, = 52.9 pm]

.__(*)"’E (Li2H) =19 _ggﬂo—ls 5

r(Li2*) = 17.6 pm.

E (He*) =-8.72x10-18J;

r (He*) 26.4 pm

E (Li?)=-8. 72x10-18J;

r (L.2+) 26.4 p.{z‘:l

E (He") =-19. Gﬁt’g‘”‘ I

rn(He’f) = 17.6 pm-.
E,(LiZ) =-19.6251010J;
(L|2+) 17.6 piitd

E,(Het) = -3. 72»«% 16;

r(He")=26.4 pm

E (Li?") = -8.72% 15—161

r (L|2+) 17.6 pm

E,(He") = -19. 62{{]0"61’:}(

r (Het) = 17.6 pniX}

()

3)

4

(X
Prefafes ¥ @ zm-aagguﬁu%?
A. [Nicl ] EB Ni(CO0),

s l:) {N1(H20)6}2 i

c. [Ni(eN), ]~
E. Ni(PPh3),

A Ry g fraed § & wh s g
(1) %@ AsRCA (2) ¥aw BaiREX
(3) mAmDMmA,DaﬁTE

[ Contd...
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Given below are two statgments :
Statement I : Like nitrogen that can form
ammonia, arsenic can form arsine. -

Statement II : Antimony cannot fonu antimony
pentoxide.

In the light of the above statements, choose the
most appropriate answer from the upuens given
below :

(1) Both Statement [ and Statement |

are correct

Both Statement | and Statement 1l

are incorrect :

Statement [ is correct but

Statement Il is incorrect

Statement | is incorrect but Statement I is

correct

52

(2
3)
C))

s
ey p

tn
(7]

configurations belong to main greup elements?
A. [NeJ3s! B. [Ar]3d34s

C. [KrKd'%5s?5p® D, [4;134'“45

E. [Rn]5f06d27s’

Choose the correct answer from the optlon grven

below :
(1) B and E only
(3) DandE only

(2) A and C only

4) A, C and D only
Dalton’s Atomic theory could not e;t_plam which
of the following? 1y

(1) Law of conservation of mass "

(2) Law of constant proportion

(3) Law of multiple proportion 4%}

(4) Law of gaseous volume if

-

54

Consider the fo]lowmg compounds
KO,, H,0, and H,S80,:

The oxidation states of the underlined
elements in them are, respectively,

’ (1) +1,-1, and +6
(2) +2,-2, and +6
(3) +l1,-2, and +4
(4) +4,—4, and +6

i
i
b
If the half-life (t,,) for a first order reactlen is
1 minute, then the time reqmred for 99.9%
completion of the reaction is elosest 105
(1) 2 minutes (2) 4 mmutes
(3) 5 minutes “4) 10 m-u}utes :.

56
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Which among the fc;llowiné :electronic
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53

55
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e e e B R

A 2 WA e o ¥

Fu 1 : R @ wCE, A 5 e e wwdr
¥, amifs, mﬁq_____@_?rrtl—_‘:"_"—
o 11 ; Qfeerl, Qe eiaemes 8 @1 W
eugﬁmeamﬂﬁeﬁqmﬁﬁq’fﬂﬂ
AR JwgE SeT ghn : i

(1) &a7 | 3T ®aq 11, 2F wEr ¥ -

(2) ®u 1 T Buw 11, a1 T 1o

(3) muw | = ¥, ag v 1 e 0

4) mwlm%,wmlleﬁfﬁ

Prafeofaa soegim famat % & 99 ge7 @ aet
q i ¥ 7

A. [Nep3s! & B.
C. [Kr4d'%5s2spS P D. [Ar3d'%4s' 4 a
E. Rupsrl6d’7s® &d L

i fog g, Pt 3 & o wET G € | |

(1) da@ BoiRE _(27 %aa Aol C ]
(3) ¥a@m DRE (4) ¥aw A, C¥RD

i
sieeA &1 weATY] fraia, Prerfifeaa & & Rewat e
T &L W ?

[Ar]3d34s?

(1) weeTT e & Fraw . ¥y
(2) Rt s &1 fraw o2
() Tftr e & fraw g
(4) v amga & o ot
KO,, H,0, ¢t H,S0, W Rar S

ﬁﬁmﬁﬁﬁﬁﬁmwﬁﬁnﬂ:ﬁ:

Y+, -1, 46

(2) +2,-2,dT+6X
(3) +1,-2, ot +4 i

(4) +4, =4, 3T +6 ¢ 0
{3

af R waw e o & o (t,) | e
te‘mrfﬁf#méﬂ%%l{ne’ﬁ%ﬁrqmmm

et ¥ & T e g :1
() 2fme % 2) 4P ® .
3) Shes Pty
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The correct order of the wavelenglh of light
absorbed by the folluwmag complexes is,

A. [CO(NH3)6]3+ o, [co(cN)]
c. [cu(H0), ] &P [Ti(H20) i

Choose the correct apswer from the options

given below:
(1) B<D<A<C
(3) C<D<A<B 25(4)

2+§“

Wy p<a<D<C
C<A<D<B

Which one of the following compounds can exist
as cis-trans isomers? ;
(1) Pent-1-ene

(2) 2-Methylhex-2-ene

3 L1- Dnmethylcyc]&i:ropane

@) 1,2- Dlmeﬁhylcyclohexane :

Phosphoric acid jonizes. in three steps with their
ionization constant valﬁes

Kal ] Ka2 and K, ,irsspcctwely,

while K is the overall {8fization constant.

Which of the following Statements are true?
A. logK=log Ka] + log Kaz + log Ka3

B. H3POy is a stronger acid than H,POy

2—
and HPO‘1 : ﬁ

(18 Kﬂl > Kaz‘b Ka3w
K, +K"

3 Kﬁf
¢ 2
Choose the correct aliswer from the options
given-below: ™
(1) A and B only @) A and C only
(3) B, C and D only(4) A, B and C only

D. K, =

Which one of the following reactions does NOT
give benzene as the pri-fluct ? :

(N -0 Na f&mmc

o (0]
‘?73]&._&0 =20 atm.

red tigi Jron Tube
® Nn X

) O_ _NI warm

n-hcxan:

(2

H-C=C-H

. 45 Hindi+English] ~ 18
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59
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ﬁqﬁlﬁaaﬂgwﬁmmaﬁfﬁmmﬂﬁm%m
T HET R :

A. [(::;1(14113)6]3+ B. [co(CN 1

C' [Cu(H20]4]2+ [Tl(HzO)ﬁ]J

i o o redt F & W vt ghg
(1) B<D<A<Cu2X B<A<D<C
(3) C<D<A<B C<A<D<B

Prfafaa dfl & & a1 fe—zZrg g9ragg %

w ¥ qrar o §Har g ? WY

(1) =-1359 £

(2) 23fmde-24T A LG
1,1 e

..(-ﬁ’lzmiizﬂaﬁﬁﬁmﬂyi

mwmmﬁﬂmﬁﬁm%ma;m

fegti® & =7 @A l{a , K; -safrrK t ECic

Kmmﬁﬂemtlﬁlﬁrﬁﬂhaﬁﬁﬂw—%m
.aarif?

ey

A, logK=logK, +logK‘2+logK —

£Kd
B. H3PO,, HyPOZ afoHPOZ™ @ aifirs
i-.
v o §1 i
c.. K, >K, K~ .o
Ka, *Ka, &
D. K, = 32 -

ﬁ%&qwﬁmﬂﬁuﬁmﬁm

(1) %aw Aol BA 2 Fmw A sl C
(3) %@ B, C gt D (4) %@ A BIC

ﬁmﬁfﬁamﬁﬁmﬂﬁ%aﬁﬂ—ﬁm#mﬂ
ﬂﬁ?ﬁﬂﬁ&?ﬁt? g‘*-

) Q—é-—om
‘_95( oo

(3) H-C=C-H

anO,_
773K, 10 - zomﬁzﬁﬂ ™
i L '-rﬂ-ml

| Contd...
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If the molar ccinductivity (Am) of a
0.050 mol L sollmoil of a monobasic weak acid
is 90 S cm? mulu} its extent (degree) of
dissociation will beh*

[Assume A} = 349 6S cm?2 mol-! and

61

A =s5{}4$-:m2 mol+!.]

(n 0.115 Hi@) 0.125
(3) 0.225 (4 (4) 0215

1 >
Given below are two statements :
StatementI: A hypolhetical diatomic molecule
with bond order zero is quite stable.
Statement I1 : As bond order increases, the bond
* length increases. 43
In the light of the ahove statements, choose the
most appropriate answer from the options given
below : f
(1) Both Statemen.t,l and Statement Il
are true
(2) Both Statemen J‘l and Statemenl Il
are false
3)
4

62

Statement [ |s£11‘ue but Statement II

is false L
Statement I is false but Statement Il

is true

Out of the following complex compounds, which
of the compound ill be having the minimum
conductance in solpnon'?

) [colNH), 5]
@ [Co(NH3)4C!g:|
3 [CD(NH:'.);,]U!a
@ [Co(NH3), cilal

63

Match List - I with List - II
List-T iry  ListII

A. XeO, ml sp3d linear

B. XeF, i I fyram:dal

C. XeOF, e 111 sde distorted
,;31 octahedral

D. XeFg f* V. sp3d?; square

pyramidal

Choose the correbtlanswer from the options

given below :. i

(1) A-II, B, C-IV:D-1II

(2) AL, BJ: C-IIl, D-IV

(3) A-lV, B-11, C-IIl, D-I

(4) A-1V, B-1I, C-I, D-lII

64

45 Mindi+English |
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61

62

63

64

(¥,
@C-@ u AE? %60

afy oF TEAATEy géa‘%a: 0.050 mol L~!
T @1 HiAT Qrerdar (‘Am} 90 $ cm? mol~! &
Eﬂ‘;ﬂaﬁﬁﬂ’ﬁﬁqﬁfﬁ"ﬁ

[T wfifeTg A+-—3496Scm2 mol-1 &t

A° =504 Scm? mol~ 'Jﬂ

(1) 0.115 (2); 0.125 J

(3) 0.225 0215 % ‘.rqt.g,

A F Rog '.31[5'5

F 1« aRefa S S F e Us fE-qTrs

o] T T A ¥y

Fq 11 ; ﬁ'ﬁ-ﬁ%mﬂaﬁmmt wmﬁ){'
¥ Bod B4

SoF B & e %, R Ry g e ¥ @

Fad Sugw wad giig S

(1) w1 ol @ 11,30 7 &)
For | oi T Il?l%;ﬁmil

3) mmlmt,m@g?{umtl

(4) @ | 9 ¥, g T 1w #

ﬁﬁﬁ%a@mﬁﬁlﬁﬁﬂmmﬁhﬁ%ﬁm
W =AAH Al e Y

M [Co(NH3)3 le’}&;'

@ [Co(NH3),Cl ]
3 [Co(NH3]ﬁ]Cl3m
() [Co(NH3), Cf]fi’ix

-1 &1 -1 & @y ﬁaﬁaﬂﬁq

w1 g
A. XeO, IG." sp3d; tfam
B. XeF, I spd; fatfdy
C. XeOF, IF sp3d?; forga

{‘ y . N

D. XeFg IVey spid?; anf Ry
A foq T R ¥ | ufg weT gP

T AL Bl C-LV, DAl

A-Il, B-1, C-11I, D-IV

(3) A-IV, B-II, C-1lL, D-1, X

(4) A-IV, B, C-1, D-III X

-

34Y3: 6+ 50 Y [ Contd..
—_— <
C \
|5
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65  C(s)+2H,(g) = CH,(g); AH=-74.8kJ mol™!

Which of the following dingrams gives an
accurate representation of the above reaction?
[R — reactants; P — pmducts]l';‘.‘:

(kJ mol~1)

R /. 5

{
T | 78T\ Pan
2 N

—> Reaction progress

C®Wmol | I F,
‘ Py A TR

i 5

—> Reaction pmgll;fé_'g;s
(kI mol™)

&
N

74.8 1.4

T Mﬂi 8
]

— Reaction progress

Energy

(N

" Energy

2)

» Encrgy

(3)

Encrgy
(kJ mol 1)

]

— Reaction progress
(&Y
d : L
- I'with List- 11 -,

List-Il

(Type of Solution)
Solid in solid
Liquid in gas

4)

Match List
List-I
(Example) :
A. Humidity l.
B. Il.
c. II.
D. Smoke IV.
Choose the correct answer frofthe options
given below : "

(1) AL, B-1V, C-1, DI LY

@ AJLBLCIV, D, Mg

(3) Al B, C-IV, DIl
) AL, B-Il, C-I, D-IV

66

Alloys
}

Solid i gas

Liquidgin solid

Amalgams

45_Hindi+English | 20
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65

N7

66

C(s) + 2H,(g) - CH,(g); AH=-74.8 kJ mol-!
frefrfga om@l § @ FH-W otE ST &
aifuftrar @r gurd W?ﬁﬁ?7 vy

[R —> ofaTes:; P —> 9]

Tl -
(kJ mol~1)

Al
R 05,
1 W@fj&

i e —e

g

o ”
(kJ mol~") -/I\\E‘:} x :
R g7
) I "
D
St :
(k) mol-") I 7480
R v
3) T ’
1
St o
P "
(kJ mol™") S 7\
T ?4.~'§
4 "
— arfufiear @ wfa
{4
-1 &1 T@-11 & Ty faam Fiferd
Th I Q:vﬁ’ 11
(semET) (Reram &1 %)
A, amEE . JwAZE
B. faarg I e A fjf
C. oma™ M. mjﬁlﬂ
6'/'3-&: : Iv. 3 ﬁ:é?’
i forg g Rt & & W S AR ¢
(1) A-ll, B-1V, C-1, D-1lIl i
AL B CIV, DAL, €y
=

(3) A-IIl, B-1, C-1V, D-lIX
(4) A-lI, B-II, C-I, D-IVR :
[ Contd...
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67  The correct order of decreasing basic strength of

the given amines is :
(1) N methylaniline > benzenamine >
t.lhanalmne > N-ethylethanamine
N~cll1) lethanamine > ethanamine >
bénzenamine > N-methylaniline
N:éthylethanamine > ethanamine >
g
,-meﬂn laniline > benzenamine

@

bcqzenamnm > cthanamingé >
Nathethylaniline > N-ethylethanamine

Among the following, choose the ones with equal
numbéfof atoms.

L$4) =
212-g of Na,COj (s) [molar mass = 106 g]
24:@}_1 of Na,O (s) [molar mass = 62 g]

Koo
240 of NaOH (s) [molar mass = 40 g]

iy . :

]%-%of H, (g) [molar mass = 2¢]

220°g of CO,(g) [molar mass =44 g]
Choose the correct answer from the options
given below : '

(h /sgB, and C only

(2) A{B, and D only
(3) B,C,and D only
25

(4) B>D, and E only

.

Match}:rlst I with List II.
List 1

(Name of

Vitamin)

Vitamin By, M
Vitamin D 1.
Vitamin B, 1.

\r‘namm B, V.
Chooﬁ’lhc correct answer from the optmns

68

m o 0w »

69
"List 11

(Deficiency
disecase)

Cheilosis
Convulsions
Rickets

Pernicious anaemia

So® >

given below :
(1) Azl B-llL C-1l, D-IV

2) A=V, B-lll, C-1, D-Il
(3) A-ll, B-Il, C-I, D-IV
) A-1V, B-lll, C-1I, D-I

45_Hindi+English |
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67

68

69

ﬁnﬁ&ﬁaﬁmmmmmmt

) N&Wﬁﬁﬁaﬁﬂ>&aﬁﬂrﬁq>@_ﬁzﬁq>%
N

(2) N—nﬂlﬂt{e}ﬁﬁh:-qa%ﬂ bfﬁhﬂﬁﬂ:-

Prertas % % 5 gPrq R el A e

o ?;-j

2_;&; g of Na,CO, (s) [t #=1r = 106 g] ~~
248 g of Na,0 (5) [z = 62g] <
2{0 g of NaOH (s) [Arert semm = 40 g]
]ngf‘H,(g) [HeT gemwH = 2 g]

E. 220gofC02(g) [Frere FeaET = 44 g]
1 R T Rt ¥ ¥ W S gRIT :
U A, Balr C
1£1
(2) &AW A, Bt D
3) %ﬁiwa carD %
%ﬁa Dai"rrE)c

O oz >

\2
o3 13

S

4)
N
-lﬂ@ll'&;muﬁﬁﬁaﬁﬁm m
1] 'Q:'h“
{ﬁmﬁﬂwaﬂ] (e wfw )
A. frafE B, I weifeE
ty (st P
B. ﬁzrftmo Il. 5% gs
C. ﬁ&aﬁws, .- Fedrem (g )
D. ﬂmﬁmBﬁ IV. womsf TeRmeaa

3 Rt Rrawedl ¥ & ot e g -
(1) Ad. Bl Cl D1V X
(2) A4V, B-lIL, C-, D-Il

(3) A-ll, B-III, C-I, Diw{
(4) A-IV, B-lII, C-11, D-l ¢

P lCt}l:ﬂﬂ“'_

]

Scanned with CamScanner




70  The correct order of decreasing acidity of the
- following aliphatic acids is :
(1) (CH;);CCOOH > (CH,;),CHCOOH >
CH;COOH > HCOOH
(2) CH;COOH > (CH,),CHCOOH >
(CH,);CCOOH > HCOOH
(3) HCOOH ¥ CH,COOH >
(CH5),CHCOOH > (CH;);CCOOH
"+ (4) HCOOH (CH;);CCOOH >
J (CH; )ZC‘HCOOH > CH;COOH
03

71  Given below ar¢ two statements :
Statement I : Ferromagnetism is considered as
an extreme form of paramagnetism.
Statement II : The number of unpaired electrons
in a Cr?* ion, i(I_’. 24) is the same as that of a
Nd** ion (Z= 60)
‘In the light of the above statements, choose the
correct answeér.from the options given below :
(1) Both Statement I and Statement II
are true ! '
(2) Both Statement I and Statement 11
are falself
(3) Statementd is true but Statement 1l
is false T
“(4) Statement I is false but Statement ll
v is true

*
’)

72 Match List [f}’lth Llst II

ListI List 1T
(Miixtu )E (Method of
Separation)
A. CHCl +"-?j:’f I.  Distillation
CgHsNH;3.¢ under reduced
WL pressure
B. Crude oi@n II. Steam
petroleufn distillation
industry v
C. Glycerol from IIl.  Fractional
spent-lye distillation
D. Aniline - water IV.  Simple
distillation

Choose the n{érect answer from the options
given below g3

(1) A-1V, B4H, C-I, D-ll

() A-1V, B-TI, C-1I, DI

() A-ll, BV, C-I, DI

) AL, B-:L?, CILDI , .y

45_Hindi+English | |
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Prefefiaa ORiSfem ol @ ol ereral &1 &

wE

(1) (CH;);CCOOH > (CH,),CHCOOH > X
CH;COOH *'HCOOH

(2) CHLCOOH > (CH,),CHCOOH > X
(CH3}3CC00H >HCOOH -

«(3¥ HCOOH > CH;COOH >
(CH_;},_CHCOOH > (CH,);,CCOOH

(4) HCOOH > (CH;);CCOOH >
(CH3)2CHCC5§3H > CH;COOH

=4
1 ﬁﬁa}wﬁqw%-r
EXCl B

70

&y 11 c.~2+a1rq=r(z 24) % srgtea geragial @

ﬁma@l%ﬁ’rNd3+w(z=ﬁO)ﬁmgqﬁﬁ

sﬁ'ﬁ:ﬁi’fﬂﬁmﬁ?ﬁi‘l

g et & o A, A g Pl ¥

mﬂ%ﬂgﬁwgﬁw

(1) mmlaﬁtwlla’ﬁ’:w%l

'(2) asm!aﬁrmmllﬁm%l
Y w5 1w ¥, w3y w9 1 o E

4) mmlmtﬁmamnw%l

rﬁ

72 th-lﬁrqshna;quamaﬁm

B cih ;__“ T 1
o) L @R AR
A. CHCI; + H‘; I P m
CeHsNHy AT
B. dgifwaw e, ¢ Il S SmEa
¥ e dw
C. uwdd NI worf ameas
frerarcre
D. U U“} IV. ST JEe

ﬁ%ﬁqwﬁaﬁ'ﬁi‘f%ﬂﬁmgﬁ
A, B, &L, DI

(2) A-lV, B-lIL, G-I, D-1
(3) A-lll, B-1V, G, D11 X
(4) A-lI Bwq.l D-I

[ Contd...
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For the reaction A(g) = ZB(g), the backward

reaction rate constant is higher than the forward
reaction rate constant by a factor of 2500, at
1000 K.

[Given : Ri= 0.0831 L atm mol! K]

Kp for the reaction at 1000 K is

(1) 83. ]ep 2) 2.077x10

(3) O, 033 (4) 0.021

Given below are two statements :

Statement I : Benzenediazonium salt is prepared

by the reactlon of aniline with nitrous acid at

273 - 278 K It decomposes easily in the dry

state. L2

Statement II : Insertion of iodine into the

benzene ring is difficult and hence iodobenzene

is' prepared through the reaction of

benzenediazonium salt with KI.

In the llght,_, of the above statements, choose the

most appmpmte answer from the optlons given

below :

(1) Both “Statement I and Statement 11
are correct

(2) Both+Statement I and Statement 11
are incorrect

3 Statement I is correct but Statement II is

)

incorrect
Statement I is incorrect but Statement II is

correct »
How many products (:nc]udmg stereoisomers)
are expected from monochlorination of the
following! ggmpound?
H;C , .

by —CHj3

Cfl.-.- CHj
H;C

(1 2
@) 5

.

%

(2 3
() 6

gy cwa
Rl
Ax- e ~omachl

.

Among the gwcn compounds I-11I, the correct
order of bond dissociation energy of C-H bond
marked with * is :

H
H g
£ ]
(J& >
fw
1 .;y 11 m
(1) ll>r':»m @ I>n>m - ,

11 >'ll >1

3) @ [I>M>1

23

73

74

75

76

Il %ﬁﬂﬂﬁmﬂmﬁm%ﬁm
TSR B SR

...erj’u:»wmu

ol
\;_Q
aifitar A (g) = 2B(g) % frg 1000 K 9t 95

R A arfuftemn 7 3 Radd, o R & aifwfiean
?ﬁﬂ'ﬂiﬂ(tﬁiﬁﬁ 00 Tl

[Rear R'20.0831 L atm mot.K-]
|000Ku1mﬂqé3m3;mql<%

() 8.1 E——2) 2077x10°
(3) 0033 & (4) 0.021
&)
*—ﬁﬁa‘raﬁaﬂﬁqﬁhf
FAl: e & 273 - 278 K WY,

A B Tz o % T Sbea ET ETE

P % Hr SHIRET an
wran &1 9% e oraenr ® amar & feafea €
i T

% ofit sufg GEL
a&KI#mm@ﬁﬁmmmwtlﬂ-—’
awﬁmmﬂ%eﬁ%#‘%ﬁqwﬁmﬁé
m%wgaﬂm@ﬁq

(1) e I shege 11, <t & ¥

(2) mla&muﬂllaﬁcm%l

(3) wu | wév k] ueeg a1l 7o ¥

(4) =1 , atg ®u 11w ¥
ﬁn&hﬂﬁﬁm%qmmﬂﬂﬁmﬂﬁmw
_(ﬂr&qmliﬂ%a)amg?
. :? _CH
>CH PR
H;C .
() 2 N, @ 3
@) 5 i) 6
N 1
R ma @iy L %, * g fafss C-H omdy &

Free frdtom et @ wd m ¥

ijp
1

m

M

(2) I>1>1
@ n>ur>1'y
[ Contd... -
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77  Which one of the following compounds does not
: delf!gsluurize bromine water?

ay;
-

27 (O)—oH

N |
i)

@3y {O)—CH=CH,
e

@ (o)—ni,

I ‘-
78 Tﬁ'g major product of the followmg reaction is :

Y (i) CH;MgBr
: CN (excess)
(i) H,0"

vt CH; o

m @><"\CN

Is“"}

T"'!: CH:l
1 €H

oy H,C. QH {

5y } I
@)Y CH, '
™ CH3
0
-(4).f'h@)'\’\|r’ o
4] 0

!
‘v‘:l

79 Which of the following aqueous solution will
c\h]blt highest bonlmg point?

(l)‘{OOIM Urea

(2)10.01M KNO,

(3) 0.01M Na,SO,

(4) 0015M CgH,0, * i

45 ‘Hindi+English | 24

78

79

(i) CH;MgBr
CN (sftrrg )

(i) H;0*

b

bikd 0
“) ""u"ﬁ( s X
Sar s

ﬁﬁrﬁaﬂmwﬁqﬁmﬂﬁﬂﬁiﬂmmwm
ls’rrn?‘

(0 P_-_QIM'@WT 6.0

(2) 0.01M KNO,

0
T 00IM NSO, a0y

"(4) 0.015M C¢H,,0, %03
} 0.0\
¥ [ Contd...
)
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80  Match List - I with List - 11
)
List‘] 3 List-[l
Fe catalyst

A. Haber p.r'i;cess 1.
i"‘\—
B. Wackeroxidation 1l PdCl
C. \\’ilkins&{calalysl 1il.  [(PPh;);RhCI]
D.

TiCl, with
A](CH; ]3_ )

Ziegler ,?;_lial yst Iv.

Choose the correct answer from the options

given below

(1) A-l, B-I'i'\g(?-w. D-1I
(2) A-ll, B4, C-L, DIV
(3) A BALCI, DAV
Bt .
(4) AL, B-IW)C-III, D-II
™
=
81 5 moles of liquid X and 10 moles of liquid Y
make a solution having a vapour pressure of
70 torr. The yapour pressures of pure X and Y
are 63 torr and,gs torr respectively. Which of the
following isgtrue regarding the described
solution? .

(1) The sollition shows positive deviation.
. o
(2) The solution shows negative deviation.
(3) The so[ft“i.!on is ideal.
(4) The solutmn has volume greater lhan the
sum of individual volumes.
By
82  Sugar ‘X'
; 0
A s f'ounc!.;_p honey.
B. s a ket6Fugar.
Py ea

C. exists inf& and p - anomeric forms.

80 -1 @ -1l & ary Prar dfr

T 3 11
A. EET WA Ij;' Fe S&It®
B. ama SvE 31 pdCl,
C. fuftwea sor@ ll?; [(PPh3);RhCI]
D. et 8@ 111.{ Al(CH,); & a1a
=t Ticy,
A fre o freed § & WA IO R

(1) A-L Bl C-1V, Dyl
(2) A-ll, B-II, C-, I;)':—}V
3" A, B, C-lII, D-IV

wigt
4) A-l B-1V, C-IlI, P:?II }\
19!

£y
81 wa X% 54w ot 7@ Y. % 10 5w 70 torr I G
e faeraa @ ¥l gE X ofR 3@ Y & 9o I
g 63 torr it 78 torr ¥ 1 Bt affta fawa &

R Prerfrten ¥ & a w 22
(N ﬁlﬁﬂﬂﬂwﬁﬂﬁﬂlﬂaﬂaﬂhtl
thmwﬁwwaﬁm%n
(3) P o ¥ Li

4) &xmmmmwmasﬂnﬂ
aiftrs %) e
wf

82 s&U X’
A. am:ﬁmfanﬁ’r%i”
B. qﬁﬂﬁﬁ&ﬁﬂ%ltﬂ

c. uaﬂwmz‘%ﬁhmmﬁt.

D. is Iaevogj_iamry. P: mwtl fﬂj
‘X'is: ; X {\é
(1) D-Gluicose  (2).,D-Fructose () Dy Jef D-me-
(3) Maltose (4) " Sucrose (3) wwam i o g
45_Hindi+English | - 25 I | Contdl...
o . 63x's
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83  Identify the suitable reagent for the followmg 83
conversion.
0 .
0 @J\OC 1y CHO
CHO 1
O ol Y I
- - 6: - +
(1) () LiAIH,, (i) HYH,0 W ARG IO
(2) (i) AIH(BuU), (i) H,0 (2) (i) AlH(Bu), (i) H,0 |
(3) () N'lBEI_}, (i) H-I-'.JHEO (3) (i) NaBé;} (ii) H"'ﬂ‘lzm i
(4) H,/ Pd-{BaSO 4 A H, f‘ ﬂd_-_?_it'S_QA
. i
84 Given below are two statements : one is fabelled 84 A AsmRemwt: o afwe (A) ot
;1: Asser(:ic;n (A) and the other is labelled as TEL B I (R) fafea frar mar 21 .
eason 15
: SiEeE| (A} I, L Cl
Assertion {Af MI undergoes S,2
reaction fast{rthan AN NCLL ‘ g F , it & S\2 sifufear e 1
Reason (R) ”Iodme is a better leaving group e () GW:EH% GBI 3 T SIS O et
because of its large size. Frafire wE ¥ig
In the light of.the above statements, choose the IR FHYAT ﬁ*ﬁhﬁ % A Ru o Rrewt & w6
correct answer, from the options given below : ot g :
(1) Both A ahd R are true and R is the correct AT A s R‘E‘ﬁ‘rm ¥ TR, AS T
explanation of A e %)
(2) Both A and R are true but R is not the :
correct explanation of A @ A m‘%ﬂ ¥4 ¥, g R, A% w1
(3) A is truébut R is false ST TR '
(4) As falsgbut R is true () Aww g R s ¥
h (4) A s &g Raw 3
85 The standard heat of formation, in &
I/ {2+ .,
“eakmelf Bra s ' o |8 Ba?*a kealighl ¥ s v i ¥ ¢
[Given : standard heat of formatmn of 50, 55
ion (aq) = _‘2]6 keal/mol, (fear war & : T (SeiE) 9 A “H"FF'I
standard heat: of crystallisation of , il = —-216 k?*"—‘"""—"' BaSO, (3r¥) % wrs
BaSO,(s) = X 4.5 keal/mol, standard heat of reedarcn o = — 4.5 keal/mol, BaSO, (@)
formation of BaSO,(s) = — 349 kcal/mol] AI® WA FEAT = — 349 keal/mol]
(1) —-1285 (2) -133.0 — 1285 (2) -133.0
(3) +133.0 (4) +2205 +133.040 4) +220.
g 3) o5 4) +2205
b B |
86  Total number'sf possible isomers (both structural ~ ) .
as well as sféremsomers) of cyclic ethers of 86 "ﬂ?\mﬁ C“H;@),mﬁ ifl:; *_.‘iﬁ 1“
moiecular fo ﬁula C4HgO is : (dtamres g dafria) wemaga) T HEAT T :
i A (1) 6 2 @)rs |
(176 D @ 8 o
3) 10 Z.(4) (11 ' (3) 10 4 “) 1
€)) o Qﬂ' q’\\},,{
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38

89

90

45 Hde-Enghs@ 8’“

B. Iowcr temperature

(Gwen.élog 2=0.301)

Identify the correct orders a
mentioned

A. Hy0>NH,; > CHCI; - dipole moment

gainst the property

" B. X’eﬁq > XeO, > Xel" — number of*fone

pa:rs on ccntral atom
C. O“H>C-H>N- O — bond Ienglh
D. N: b O, > H, — bond enthalpy

Choosa qﬁ'ne correct-answer from the options
given bt: oW :

(1) AZD only
(3) A:¢ only

(2) B, D only
(4) B, Conly

Higher yield of NO in 3
N, (g) +0‘> (g ) = ENO(g} can be obtained

©at _;_\?h;

[AH of the reaction = + 180.7 kJ im':-l."-l]
A. hi'gher temperature

hllg]]er concentration of N,
D. hlgher concentration of O,

Choose-fhe correct answer from the options
given below:

(1) A, D only (2) B, C only
(3) BiC,Donly (4) A,C,Donly
t |

If the rate constant of a reaction is 0,03 571, how
much ‘time does it take for 7.2 mol L-!
concemrguem of the reactant to get reduced to
0.9 mo. L"?

(2) -23.1 s
(4) 21.0s

(1) 69.3s
(3) 2105

Which one of the following reactions does NOT
belong to “Lassaigne’s test™?

(1) N&¥C+N —— NaCN

o
) 2mi+ § ——> Na,S

3) rjﬁx ——> +NaX

&
|

@) 2..,o+(, - 2c|.1+c-::|2

«.@ -L-.

/‘ *.

wr

, & "

87

88

89

920

e

mmﬂﬁﬁmﬁ;ﬂﬂ_ﬁm:

A H0>NHy > CHCI, - faya smpf

B. XEF43‘X603>XEF2 ﬁﬁqmﬂx
wEE gl @ wer ¢ gy

C. O-H>C-H > N-O — o waré

D. N,>0> H, —aru i

%ﬁqwﬁmﬂ’mﬁxﬁﬁq

" I A, D (2) i}m#'B.D;q

3 ?WHA,C “) ﬁﬂs,cx

aiffimar N (g) +0; (8) = 2NO(g) # NOH#
TeIaT WA W o e &
[sfaftsar @1 AH = + 180.7 k.lsﬁul"]

A, TTGT @9 9T~ e

B. Prmtamar N\ E‘“ TT.
C. Nydismm T oy

D. O, % Temt gimm gr i)
%ﬁqwhﬁﬁﬁaﬂw{gﬁq

(1) ¥aa@ A, D (2) ¥m B, A

(3) ¥ B, C, DR 4 %=w A, C, D
' Lf‘;

Ty e afwfiea &1 €m 0035"€r T
Hﬁiﬂm’ﬁ‘dﬁ??molb D9moIL“
zﬁqﬁﬁﬁmmm 0
(Rear a1 % : log 2= 0.301) '3'
6935 ) 2;’.&-5
(3) 210s @) 2104
=

Prerfa sl & 2 sl o
A (Lassaigne) witenr & waif i ¥ 7

(1) Na+C+N —— Na@N
A 00
(2) 2Na+$§ —5 > NajS :E'

() Na+X ——> +NaX ﬁ

J"Q:, 2Cu0+C — QCuN:oz
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The complex 11 of mitochondrial electron
transport chain is also known as

(1) Cytoclirome be,

(2) Succingte dehydrogenase .

Cytochrome ¢ oxidase
(4) NADH, dehydrogenase

Polyvmerase '.:h'nn reaction (PCR) amplifies DNA

followi ing ll@ft}\ﬂllc}ﬂ bi
(1 N2 Ty} (2) 2n
(3) 2n+ L (4) 2N2

Wit are thé potential drawbacks in ndoptlon of

the IVF method?

A. _ lligh fatality risk to mother

3.~ Lxpensive instruments and reagents

C. Husband/wife necessary for being donors

D. Less adbption of o hans

. Not available in Indi

F.  Possibility that the carly embryo does not
survive._

Choose the correct answer from the options given

below : o
(hH B.. D. Ednly (2) A,C,D,Fonly
(3)"A.B.GD only (4} A, B, C, E, F only

What is the iame of the blood vessel that carries
deoxy nemated;blood from the body to the heart
ina fro;:.

(1) Aorta )
(3) Pulmonary vein (4)

Which one of.the following statements refers to
Reductionist® ‘Biology?
(1) Physico-chemical approach to study and
understand living organisms.
2 Ph smlosncal approach to study and
erstand living organisms.
3) Chcmlcai approach to study and understand
living organisms.
(4) Behavjigural approach to study and
under:-..tand living organisms.

(2) Pulmonary artery
Vena cava

Given bclnw are two statements :
Statement T': in the RNA world, RNA is
considered the first genetic material evolved to
carry out essential life processes. RNA acts as a
wenctic material and also as a catalyst for some
important hiochemical reactions in living
SVAICMS, Belm. reactive, RNA is unstable.
Statement 11z DNA evolved from RNA and is
a more stable genetic material. Its double helical
strands being mmplclmnhn resist changes by
evolvinge IL]’)"IIIH'I" mechanism.
In the licht 6f the above statements, choose the
most appropriate answer from the options given
below @ Ly
(1) Both statement | and statement [1

arc correct
(2) Both statement I and statement [1

are lllmrr{:ct
(3) Statement I is correct but statement II

is incorrect
(4) Statement | is incorrect but statement 1 is

correct

28

921

92

93

9%

TrgRrRga T aRe sfaa & s I 5t
7 ofr wed &

(1), |rge® be,

ot wwirie dmgfnia

(3) WEEm ¢ AEEY

(4) e S

Sirson sparn st (@) Frefofaa wfwon
& orgart Ay ﬂwﬁmwﬁt

() N2 f ey 2

(3) 2n+1 <~ 4) ”’N'

ardd fafy &) e i Gwifd afirar 791 & 7

A. T @ g F1 99 ANEH

B. #&H vum ot afyads

C. zm@r g9 & fro ofi/ash @1 @ smaeds B
D. el @1 w8 R ferar @

E. 9rta ¥ Syee,q e

F. 7% wreeT f Sreftsras o sifad 81 Tear
ﬁ%ﬁqwﬁ:ﬁq‘iﬁaaﬁaﬂrgﬁ

(1) %awi B,D,Fy (2) #a@w A, C,D,F

(3) %a@ A, B,GyD (4) %aw A, B,C,E,F

59 B At a7 @ A & o Yo F frstawipa
"ﬁﬁrfmsrﬁ't%@wﬁmm%?

(1) menmd v9 L2

(3)  swpw firu (4) m

Frafafaa & & Praer sfhua eadius Aafasm

(ReagPre ameiet) & 27 ~—

(N m%mmmmﬁmm—
TEE S 39T ( )

(2) wirEl & eage ofit Sl THFH & forg srie—
e /@i surm

(3) W@l & e offt sE! guEd & fag

C TS IqETH

() Wl % g it sE wEd ¥

?ﬁ%ﬂ’lzﬁm?{qw%

"y | (T d@E1C ¥, ST & e & ATayaE

AT &1 faeTd 1A T guH it a=rel A
AT ¥ | SNTAY UF HAE g ofT 0@ S8E
& w9 ¥ o afdes Al F g gewapl da-vaafie
mﬁzﬁmeﬁ%ﬁmmﬂm%lmﬁﬁmﬁaﬂ%
ﬂsfmurmamﬁ%l
mmil.ﬁ@q_m@q%mwﬂ'
Wﬁﬂsm%ﬁweﬁmmtlﬁm%

o % M % BT 8 O WA &
Pt & o B e St 5 o St &)
| IUEE T % S A, A9 fag o R § ¥
W g I g

-.Q')‘ ®Y | 3T HUA 11, 2 wé T

((2) FuA [ it wue (I, 3 T ¥ )

(3) wuT @i, & 11 Tod )

(4) ®uT | a8, vTg wuw 1w E
) '
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Epiphytes that are growing on a mango branch

is an example of which of the following?

(1) Commensalism ([]25 Mutualism

(3) Predation (@)
i
iy

Froql the statements given below choose the
correct option : N
A. The eukarymm"\*ihommes are 80S and
" prokaryotic nbo‘sqmes are 70S.
B. Each ribosome has two sub-units.
C. The two sub-units of 80S ribosome are 603
and 408 while that of 70S are 50S and 30S.
D. The two sub-units f 808 ribosome are 60S
and 208 and thai of?DS are 50S and 20S.
E. The two sub-units of 80S are 608 and 308
and that of 70S fare 508 and 30S. -
(1) A,B.Caretrue (3) A, B, D are true
(3) A, B,E are true gfl) B, D, E are true
O
Which one of the following is an example of ex-
situ conservation?
(1) National Park
(2) Wildlife Sanctuary
(3) Zoos and botamcaI}gardens
(4) Protected areas Q;’) '
i‘*‘..
Given below are two slatemems

. Statement I : The pr:mary source of energy i
an ecosystem is solar Encrgy ;

Statement 11 : The rate qf production of organic
_ matter during’photosyfithesis in an ecosystem is
- called net primary productivity (NPP). |
In the light of the above statements, choose the
most appropriate answer from the options given
below : N
R
(1) Both statement l‘azlid statement |I
are correct
Both statement | and statement [i-
are incorrect !
Statement | is co[%ct but statement Il
is incorrect
Statement [ is mcorrect but statement 10 is
correct J

97

Amensalism

98

99

100

()
3)

@)
3
45_Htilnfli+English ]

ama W1 e T arfuuredt (qdiwTge) @1 ST
- fyfafiaa & @ Reamr us saEen §7
B wEifa (Ffe) "

2) wemf (gafe)

@) wE (@) O

4) mmﬁtuwﬁfbm(qﬁrﬁm

41 feg 7 et 4 3 P 9 ¢
A. qa;ﬁqﬁﬁasma’rmﬂsosmgﬁﬁu‘r&m

A 70S WHK Haa §1
B. W& TEEET ¥ 2 su_saaal s ¥l —
C. 80S TrEdd™ 1 o gu-gardal 60 et 408
B ¥ wrafp 70S < < gu-gaEal 508 o
308 &t B e
D. sosm&@w#a’rm—-}m{mﬁos\m*os,‘c
ﬁﬁ%ﬁ?ﬂSﬁﬁc&wﬁmsosmﬂos
ﬁ?ﬂ'%l >
E. 80S @i & 99- “:_gﬁam.ans%m'aféﬁ
: 70S % & 9 mﬁmg&b%afmossu
“Hf AB.CEIE (2) ABDFIEX

GNXABE®E (4 B D Lw g

97

99 ﬁmﬁf@aﬁ@raﬁﬂmmﬁmW}mmw
TP TEET £ 7
i}
(1) T ud o
(2) T SG evard i"f
\w’aﬁqﬁamﬁ{m"‘%ﬁ
4l
(4) R d ™
. 1
100 9 & wuw fog o ¥ i“‘i
ool iﬁﬁrmﬁﬂu&imaﬂ(%ﬁfwzq)ﬂwﬁim
mafrsw a1 W Fai #1

T 11 : fRdt mitRafe @ 3 woigmsaa & 2
mﬁmaﬁaﬁmﬂﬁzmmm
(@W}mﬁttt g;:,
sdw suAl & omers W, A fre o fase F @
T 99 o &t gig
(1) =g | ol Fu 11 ST €1
(2) ®uA | &y wo 1l S e &
LGy m | wé § afe s 1 e 2
o (4), B | TeE ¥ e zﬁeﬁgu'aﬁ %
'n
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101  Match List - I with List - II.

Listy 1 List - II _
A, Em&p«sema I Rapid spasms in muscle
s due to low Ca** in

. body fluid
B. Angina I. Damaged alveolar
Pectoris

walls and dec:::ased
respiratory surface
C. Glohbrulo- 11
nepliritis

Acute chest pain when
not enough oxygen
N is reaching to heart
S muscle
D. Tetanp IV. Inflammation of
' glomeruli of kidney
Choose the correct answer from the options
given below: -~
(1) A, B-I, C-1V, D-lIl
(2) A-lL, B-1, C-I, D-1V
(3) A-I, B-1V, C-M1, D-I
(4) AMIL B-III, C-1V, D-1

?”r..
Given below are two statements : One is labelled
as Assertion (A) and the other is labelled as
Reason'(R).
Assertion (A) : Both wind and water pollinated
flowery are not very colourful and do not produce

102

-

nectar. -
Reasun’tR) : The flowers produce enormous

amount of pollen grains in wind-and water

pollinated flowers. i

In the light of the above statements, choose the

correct-answer from the options given below :

(1) Bpth A and R are true and R is the correct
explanation of A '

(2) Both A and R are true but R is NOT the
correct explanation of A

(3) A.s true but R is false

4) A(]s false but R is true

Which'6F the following is an example of non-
distilled alcoholic beverage produced by yeast?
(1) Whisky (2) Brandy

(3) Beer (4) Rum

Given below are two statements ;
Statement I : In a floral formula @ stands for
zygomorphic nature of the flower,
and G stands for inferior ovary.
Statemtent I1 : In a'floral formula @ stands for
actinomiorphic nature of - the flower
and G jstands for superior ovary.
In the E 1t of the above statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement I

arg torrect '

(2) BPI Statement | andIStaﬁement Il

103

104

are Jncorrect :

(3) Statement I is correct but Statement Il is
incorrect . ot

(4) Statement I is incorrect but, Statement 11 is
correct B Rked

45_Hindi+English ] 30
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A" AL B-II, C-1V, D-1

@I-Iw@-n%m%}g’“

'q:vf'[-] ‘Q:'h i3 : o
L erﬁﬁ_ﬁ?kmﬁ(:a
A. TR 1 G oo R
o Yo 11 mR gt fuf
1. &9 =& & 4IsT) wg
c. gt ST & U s
o
D. et IV. 99% % Tes—9y
' WaTEdhaT (3AaeH) .-
e g u fermedt W | wh TOT g ¢ ,f

(1) A-ll, B-1, C-1V, D-II s

(2) AIL B-L, C-IL D-IVX . |
(3) AL, B-1V, C-lIL, D1y

iR
L

el e
. e

.

%a’rﬂmﬁqwtzwﬁraﬁ%mm)%mﬁ
ot qEY @ W (R) & &9 & witeea fovar a4

'axﬁmqqm):a;%:ﬁraﬂwﬁ:a:gwa‘ﬁ‘fﬁa@u i

i 8 o ¥ ot wwte dar T8 B E i‘
6 (R) : a1 ofT o wfE gt S ¥ A qu o
Sy 7= ¥ T 3w B £
%ﬁaa?ﬁ;;‘fjmﬁ.ﬁﬁqﬂﬁﬁn’fﬂ%
gat s :
(1) A ofit R & & ¥ ot R, A 2wt
are ¥ ety
(2]‘AG%TR€HTH?&?%&F{!}}E‘AE§[H§TW
3)

T8 &) !

AT & @ R orae 18

4) Amt%&mRm%l:’;
£ ;

_Wﬁﬂaﬁamﬁeﬁhﬁf&m%

‘ﬂﬁwwqa‘mﬁ

(2)_.ary :

YEASC |

T =Y we fg o ¥ :

ml:gﬂﬁﬁﬂgmmﬁgﬂﬁm

(Feidda) wgfa & % ot G Frafom s

Ayt By g # x 43 '

0 qolt ey § @ o ond o7 o B Tt

(qwriifha) sk & ¥ ofie G§ st sister

& Sudadi £ &y "IN )

ww;gwaswa;mﬁ,ﬁiﬁmﬁm‘fﬁ
SR SE A g b

(1) & 1 sir o= 11 3 ¥

(2) wuw 1 ot w11 ST o &

(3) ®ua 1 wd ¥ wtg B 1l T ¥
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105 Streptokinase produced by bacterium
Streptococcys is used foks
(1) Curd production 0
(2) Ethanol production{()
(3) Liver disease treatment '
(4) Removing clots frt:a‘“_\tnfli blood vessels

106 Which chromosome in thg human genome has

_the highest number of genes?
i{2) Chromosome Y

(19" Chromosome X
{(4) Chromosome 10

(3) * Chromosome |

107 Which of the following“”étatement is correct
about location of the male frog copulatory pad ?
(1) First and Second digit of fore limb
(2) First digit of hind limb
(3) Second digit of fore limb
(4) First digit of the foreilimb

108 Which one of the follgging phytohormones
promotes nutrient’ mobilization which helps in
the delay of leaf senescence in plants?
(1) Ethylene (2).,; Abscisic acid:

(3) Gibberellin (4)* Cytokinin.

109 While trying to find out the characteristic of a
"newly found animal, a;researcher did the
histology of adult animal and observed a cavity
with presence of mesodermal tissue towards the
body wall but no mesodermal tissue was
observed towards the alimentary canal. What
could be the possible coelome of that animal ?

(1) Acoelomate (2 ) Pseudocoelomate

(3) Schizocoelomate(4) Spongocoelomate

SIL -

110 Match List - I with List ¢y
~/List-1 List - IT
A. Head L. .t-“'Enzymes

118" Sperm motility.

B. Middle piece
C. Acrosome HLM Energy

D. Tail IV.fY Genetic material
Choose the correct answer from the options
given below : ﬁ

(1) A-1V, B-lIl, C-I, D-II
(2) A-IV, B-lil, C-II, D-I
(3) A-Il, B-1V, C-II, D-I
(4) A-IlI, B-II, C-I, DIV !
Given below are the st in the life cycle of
pteridophytes. Arrange thé following stages in

the correct sequence. O
A. Prothallus stage . [~
B. Meiosis in spore mother cells

C. Fertilisation
D. Formation of arche%nia and antheridia in
gametophyte. E
E. Transfer of antherozdjids ft.o the
archegonia in presenge of water.
Choose 1h§|' "cprrecF: an%uxjer from the options
given below ' _ '
(2 B,AECD

1) B,A,DEC
(3) D,E,C,A B (49 E,D,C,B,A

45 Hindi+English |

111

@) Wmm
ELiEd IR
(1) =d & samET W
(2), qiTd SR f
agre UM ITAT i
Mmmﬁmﬁrﬁ_ﬁm%ﬁ
106 w7 A= ¥ few (ayeva) ¥ arfraan dean
. £ Waﬁ’g@‘r Nilakasiiol
(1) TomgT X (2) &urq;i Y
27 T | (4) oA 10
107 =t ¥ow Ay aer (Agam) & P § fratafed ¥
ﬂqmwﬁ%aﬁr@ﬂm
(1) &= i
(2) ued 9T B g Sielts
(3) _om Wi @l STl
L ST 9T @Y T S
108 ¥ § YT |1 ey & (¢ ]

0 F 4 weg e €7 py
3 A

(1) o @) |
(3) faaifes u@f;yrsz’mﬁw |
AT 1T T UF wg A PRkt B @ $7 '

qm:ﬁmzﬁ%;ﬁgmﬁmaﬁmﬁmﬁ@r

it
3 rafhfa @ ot FwHra A% B
g TF e ST U, T AW H A DA
qupEdT Sas T @ SEFY B aeta W

&ar gt ?
:

109

< e
(3) siifes (4) T

110 -1 &1 TA-11 % T fremt
-1 oI

111

C. fmaa §
D. W(ﬁﬂw}yﬁmmgaﬁm
et 2 SufaRy F gl a1 shue @ e
fﬁﬂﬁfﬂ'ﬂﬁg_‘ggﬂ_ﬁ? :
C (2 BAECGD
(4) E,D,CB,A
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Cardiac activities of the heart are regulatr:d by :

A. Nodal tissue _
B. A special ncural centre in the medulla

oblongata ‘"
C. Adrenal medullary hormones

D. Adrenal cortical hormones
Choose the correct answer from the options

iven below : .
& dCOnIy (2) A, B, Cand D

1) "A.Ban
ES) A, Cand D Only (4) A, Band D Only

Which of fnl]ow:ng organisms cmnmr fix

nitrogen?  *

A. Azotobacter B. Oscillatoria

C. Anabaena D. Velvox
E. Nostoc
Choose the correct answer from the options
given below: } 3
(1) Aonly @i (2) Donly
(3) Bonly i{i (4) Eonly
F'\-q.

Given below are: mo statements :
Statement I : Transfcr RNAs and rlb050mal

‘RNA do not interact with mRNA.
“Statement II : RNA interference (RNAI) takes

place in all eukaryotic organisms as a method of

cellular defence.
In the light of the above statements. choose the

most appropriate answer from the options given

below :
(1) Both Statement | and Statement H

are correct i1
Both Statement | and Statement II

are incorrect
Statement L-is correct but Statement Il is

incorrect

(2)

i
256

Statement I;s incorrect but Statement Il is
I. % ¢

correct

In the above repreéentcd plasmld an alien piece

of DNA is inserted at EcoRI site, Which opé'tlte

following strategies will be chosen to select the

recombinant colonies?

(1) Using ampwnllm & tetracyclin containing
medium plate

(2) Blue color tolonies will be selected.

(3) White color'colonies will be sejected.

(4) Blue color edlonies grown on ampicillin

plates can be selected.

32

T b i

L

00
¥e
-
o
L
112 g & Bl & P e % & B
. ¥ 4
A, e FTH
B. ﬁsqﬁraﬁwmqqmﬁw’maﬁmw
C. aﬂhwmmsﬁwmﬁwb
D, afige T gt .
A3 forg g Pt ¥ & wét G g

Wy @@ A, Bt C (2):°A, B, C 8t D
(3) ®aw A, C 3T D (4)= ?mr.q B &t D
:“\

113 Pt ¥ & 2 @1 AT @ R
(u*rﬁraﬁqm) 7E HT BT H0
gwled#T ~B. &dieeitar

c qaraﬂar D. FiaiFd
E.
ﬁ&&qwhﬂﬁﬂaﬂwgﬁq
(1) &ad A
(3) %@ B (4);;:E
114 SRS P RgmE: O
gl : Wmﬁmmqﬁ
m%muwﬁmﬁﬂ{iﬂﬁm%r)\

w1l : Hﬂﬂ@ﬁdﬁ(ﬂ#ﬁiﬂaﬁ)vﬁa‘rﬁm
W(RNAu)aﬁf&mmﬁrmﬁﬁ:%mﬁ@m

%l
soda FUA & s ¥, %ﬁqwﬁmﬁ#
FIR IUGH TAT B GAY
(1) @97 | 3l ®y= 1l 3FF |8 81
(2) @ua |t @ 1 e €X
(3) e | wé ¥ e weell e XK
FU | T & dfe B w8 E
P _

115

IIITIP
T wafdra wifaes &, é’rqﬂ'qé:qa;ﬁmﬁmgaﬁéﬁ
Ecoleﬁranﬁnzamm%l
@ﬁﬁ)%w%mmﬁmwfmm
&1 9g femar s 7, {
(1) Wmmﬁﬁwgwwﬁz‘lﬁr
WA AT
(2) Wt % Praet an e g v
L3 whE 1 & Fragt & 99 Rrar smom
(4) ufafifem <2 o affets i o7 % Fradl &1 T
femar s &4

g i
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Which of the following genetically engineered
organisms was used byEli Lilly to prepare

human insulin? o

(1) Bacterium (29¢2 Yeast

(3) Virus (4)~ Phage
i o

Name the class of enzyifitlthat usually catalyze
the following reaction : L
S-G+S¥ - S+5%-
Where, G —> a group other than hydrogen
S —» a substrate
$¥ _» another substrate
(1) Hydrolase (2)(Lyase
(3) Transferase (4}&}igase

Find the statement thatils NOT correct with
regard to the structure of3iionocot stem.

(1) Hypodermis is parefichymatous.

(2) Vascular bundles arglScattered.

(3) Vascular bundles are-¢onjoint and-closed.
(4) Phloem parenchyma-i§-absent.

The correct sequence of events in the life cycle
of bryophytes is

A. Fusion of antherozoid with egg.

B. Attachment of gan%@phyw to
substratum.

C. Reduction divisioijglo produce haploid
spores. e

D. Formation of sporophyte.

E. Release of antherozoids into water.

Choose the correct an$¥er from the options

given below : <N

() D,E,AC,B (2-B,EA,CD

(3) B,E,A,D,C (4) D,EABC

Which are correct: .

. A. Computed tomogeaphy and magnetic
resonance imaging detect cancers of
internal organs.

B. Chemotherapeutics drugs are used to kill
non-cancerous cells,

C. o -interferon activije the cancer patients’
immune system am%elps in destroying the
tumour. ) -

D. Chemothefapcutic"’drugs are biological

" response modifiers.

E. In the case of leukaemia blood cell counts
are decreased.

Choose the correct answer from the options

given below:

(1) Band D only (2) DandE only

(3) CandD only’ (4) Aand C only

33

116 Prefafiaa amgef: e dt ¥ & Rr s

ult frelt amn wed foy foma
T ur? Ty}

] oy (2) 4

(3) Faam () fifih (w)

117 ﬂwan&smaﬁmwmqﬁ?@ﬁrﬂw

aifufir @ saf & & ¢ L)
s-G+sf > s+8/-G (™
<TEl, G-—)Fﬁﬂﬁﬂ&iaﬁrﬁzﬁi@w

)
7

S — uw framart

S# _y U g fpuart
g X (2) W
ZiaHE m)ﬁﬁx

118 e T B & ey G we

119

120

(M
&)

FAdEd }

A.

B.

C.

D.
E.

E,ACD
i

D,E,A,C,B :
4) D,E,A,B,C

B,E,A,D,C

e Y ot g o A
o ol % HEl BT T T~
Tefafemy e @ W -t i

7 A % foe R s 1

o -3TTHTA St ol H il o & wle o
HT 3 ¥ ol Fov o TEOWT F wErEan s

tl o :
it alray S Sfem saTs ¥
aifyrCaRTan (%Wﬁ&qﬁﬁ'wx

araaei A g g At §1 Y

()
3)

Faw BaltD (2) %9 DORE
¥aw C it D (4 daw AdiT C
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Match List - I with List - II.

List - I List - II
A. Centromere I. Mitochendrion
B. Cilium II. Cell division
C. Cristae IS, Cell movement
D. Cell membrane P4V, Phospholipid
Wo Bilayer

Choosé the correct a@ver from the options
given below :

(1) A-l, B-II, C-III, D]

(2) A-II, B-L, C-1V, D:I{‘I

(3) A-IV, B-11, C-III, D-J

(4) A-ll, B-lII, C-1, D-1V

122 Match List I with List II : °

List 1 U List II
A. Chlorophyll a ]ﬂﬂ Yellow-green
B. Chlorophyll b Yellow

Blue-green
Ifr Yellowto .
Yellow-orange
Choose the option wnh‘a { correct matches.
(1) A-1I, B-IV, C-II,
(2) A-II, B-l, C-II, D-IV
(3) A-l B-lI, C-1v, D-11I
(4) A-lL, B-1V, C-III, Ds1]
(84

C. Xanthophylls
D. Carotenoids

123  Find the correct stateméhts :

124

A. In human pregnéficy, the major organ
systems are formedt the end of 12 weeks.

B. In human pregnﬁ 'cy the major organ
systems are forme ‘t the end of 8 weeks.

C. In human pregnanc heart is formed after
one month of gestation.

D. In human pregnancy, limbs and digits
develop by the end f second month,

E. Inhuman pregnan hc appearance of hair
is usually ohserve‘&gm the fifth month.

" Choose the correct answer from the options

given bclow s
(1) A and E Only (M
(2) Band COnly 1)

(3) B, C, Dand E Onfyd
(4) A, C, Dand E Only!

In the seeds of cereals, the outer covering of
endosperm separates the embryo by a protein-

121

122

123

Tl - 1 o1 ol - 1 & arg frem &¢)

- - 10

A pgEReg, Lo R

B. wgeq ullL @it fermer

C. e COIL  FfrsT Haea

D. @ifim firesht \OIV. wreniftfis
f“; feuwr (@ waz)

i Rag g Rl 18 w8 T A

(1) A<, B-II, C-II[,D-IV

(2) A-Il, B-I, C-1V,.D-III
(3) A-1V, B-II, C-g D-I

T A-IL, B-III, C-1, D-IV
Tt 1o @t 11 % gy frems @ifrg
T 1 U og@
A. wRifEa o dren-ga
(mvisfa) e
B. wwriftee &t I dier
C. sruiftem JIL -z
D. ¥tfegs V. 9 & der-aroh
i frg T fereedt F gl wet g

(1) A-l, B-1V, C-lI=D-I

27 AL, B-l, C-II, D-1V

(3) - A-l, B-II, C-IV, D-III

(4) A-l, B-1V, C-IIED-1I

4]

Hﬁﬁiﬂ"ﬁ'ﬂﬁqﬁﬁ:‘\g

A. Wrra gndan |, Uy

B. ﬂmmﬁmt‘rﬁrgam—awswaiw
% o ¥1 Xy

C. Wwﬁmﬁrmaﬁmﬂﬁw%w
T 9 B B e

D. =& wnvan , maﬂrmﬁquﬂ%%
o< A% fawiaieydr ¥ >

E. qﬁamﬁmﬁ,éﬁha&tﬂﬂuﬁlmqﬁﬁ
e & o ¥ 3} W B

#ﬁﬁqwfﬁmﬂgwﬁmgﬁ

(1) %= A iR E %

(2) %3a B st C l&’:

(3) %aw B, C, D AW E

4T ¥ A, C,DarE

ST 12 garE ¥ or

124 W(ﬁhﬁ)%%ﬁmwmm

WY1 & U SIS W T &R ST e &, B
wed &

rich layer called :
(1) Coleoptile (2) Coleorhiza (1) wigreae (2) weigEe
(3) Integument ... (4) Aleurone layer (3) oreTETY AT T T
34 [ Contd...
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126

127

Which of the following diagrams is correct with
regard to the proximal (P) and distal (D) tubute
of the Nephron.

Ho

Identify the part of a biddreactor which is used
as a foam braker from thé given figure.

B : "'_
= —C U3
L A .4
it}
[
. 5 B
‘rlg/» -3 |
' (oY
(1 A (2 B
3 D 4 C

Given below are two statements : One is labelled

as Assertion (A) and the other is labelled as

Reason (R). 44

Assertion (A) : Attypical unfertilised,

angiosperm embryo saciat maturity is 8 nucleate

and 7-celled. et

Reason (R) : The egwpamtus has 2 polar

nuclei. T

In the light of the abovg, §tatements, choose the

correct answer from the Dptions given below :

(1) Both A and R are frle and R is the correct
explanation of A

(2) Both A and R are true but R is NOT the

(3) A is true but R is false

correct explanation of A
(4) A is false but R is true

45 Hindi+English |
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125

126

127

(i) o et wafir (P) iR g wafed
%%wﬁ ¥ Prefifag & @ o @1 oM@
44

3

@
3)
Na@l peoor 1}1? Nﬂz%
@ m
w ol | Ik mo

fr T forsy ) Praere 3 v T A TEEE SR
frat Iug sm Wﬁmﬁsﬁaﬁ)%mﬁﬁm
T E 7 u) :

B \@
= L= C iy
. o
—:-AN
T g}
e
' »D i
(1 A u(2) B
3) D a@) C
1 et g g 0 2 rfv (A) & v A
ot gl @ &% (R) % g9 ¥ "ifea fva war &1
sty (A) : uh wed afifoa oieged
) o1 iy gitwe €9 T 8 el it
7 ST BT &1 ;
“*(Rﬁm,mi\?ﬁﬂﬁmﬁﬁ%l
ST HAA & o A, A R g fdedt ¥ @
e I >
(1) At RIA o ¥ ot R, A & )
T &

) :ﬁ?ﬁgﬂﬁwifé%ll,;n%aﬁam
l

T A 5 ¥ AR R oEd B

(4) A g € Afer R v #
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128 A specialised membranous structure ina | 128 w&fEfes (eﬂﬁﬂﬁ;}ﬁ?) wifiret A &, Qﬁw
prokaryotic cell_hich helps in cell wall Preeliare @ E S Fr v

formation, DNA replication and respiration is : uﬁ,@ﬂq—.{ (’(qﬁ-&fgﬂ)_w T

(1) Mesosome &
i \;H'r HegH f‘ilﬂ'ﬂ‘ilq)

(2) Chromatopl ores
(3) Cristac _["" _ o
3) @

(4) [EmlopIasnmﬁctlculum
129 Which of theuTollowing k'uc the Ir;n,t- “) e‘mﬂaﬁ
transcriptional eveyts in an cu aryotic cel R g @ w (@)
A. Transport ofpre-mRNA to cytoplasm prior 129 v ks Q _qﬁm;'r
to splicing. g Tz ¥ P
B. Removal of introns and joining of exons. A, taRin/gHadud 8 ged ;ﬁf qd ARTAY
C. Addition of methyl group at 53° end of (pre-mRNA) 1 Sl o/t
hnRNA. ; _ B. o (§1) a Fremet ot awidl (T
' &

D. Addition oftilenine residues at 37 end of e
imRNA%S firt o ARE W B g

hnRNA. 0 C
E.  Base pairing of two complementary RNAs. D: ImRNA #.3 firy ar A arafite @& g —
E. &1 em-gra (Fg—dafn)

Choose the cor{ecl answer from the oplions

given below : "I;ﬁﬁ W[FF'Q

(I) AHCnn]k (2) B,C, D only ﬂﬂﬁqw&rﬁq’rﬂﬁnﬁmgﬁq

(3) BCEonlm (4) C,D,E only i) (1) Faa A, B;C " F@w B, C, D
130 What is the pattefitlof inheritance for polygeni @) ¥ B GE ) S b

hat is the patterifof inheritance for polygenic

trait? P e 130 agoidt fasaeY @ et & ded w7

(1) Mendelian inheritance pattern (1) ¥za &1 damr de

(2) Non-mendelian inheritance pattern b 27 -fsa domnfea det _

(3) Autosomal dominant pattern (3) ST (erame) Wi gz

(4) X-am amniaan g e

(4) X-linked recessive inheritance pattern
1

g
Which one of thésfollowing enzymes contains @ Freafafiaa "3[% wwen ¥ Grdfes T %3 =

131
*Haem” as the prgsthetic group?
(1) RuBisCo p ﬁ‘;" Em
(2) Carbonic anhydrase '“3‘
(3) Succinate de’fpdrobenase «27 it E'F'T?%'ﬂ' |
(.1) Catalase =% (3) TwiM @msa‘rﬁﬁn
132 Each of the l"ollu;ﬁ'r;(ﬂg characteristics represent a o
Kingdom proposed by Whittaker. Arrange the Pl & ﬁ Hﬁﬁifﬁaﬁmfﬁzﬁm 1T e S
following in increasing order of complexily of &t walitid Hell %) Prefefaa & s (smdfte) @
Rodyﬁlb.mlmhon ilﬁ wfeert & smidl/aea & o wraRaT Fifg)
ulticellular, heterotrophs with cell wall A FRf
made of CIIF{' 3 @ﬁ ‘?:ﬂﬁ i Pk
B. Hecterotrophd with tissue/organ/organ m ﬁﬂ‘}
system levelidf body nrgammtu!;n ¢ o B T (S / S T R AT
C. Prokaryotes. with cell wall made of H’Tﬂﬂ!ﬂﬁ{ &
pulywcch.irpgps and amino acids. C. WHRAZ(orfim Faal) R HiRe Nfﬁ@
D. Lukaryotic q}ltotrophs with tissue/organ ST Y o @ @ B ¥
_ level of boJ organization. D. {*ﬁ'ﬂ‘rﬁﬁi,(‘t‘lﬁq EEaht) T R Sa/aim
E. Eukaryotes w}th ceflular body W B P GG € B
organization, gfare, @Hﬁ
Chom; ilhc: corrctt answer from the options ;%ﬁ fu Ty Rraedt #ﬁghgq:;_? o B &
given below : gie:
(” A, ( LBD (2} C,IL‘,A.D.B (U ArchJ:B;D""W C,E,A,DB
(3) A, C! E, D, B)‘ WC'! E- A B D

(3) AC ED, B ) CEABD
133 Who is known as IhL father of Ecology in India? 133 W ¥ aiRRafidl &1 s Y wm S & ?
(1) o8 T B9 «2F tada fa

(1) S.R. Kashyap (2) Ramdeo Misra.
(3) Ram Udar (4) Birbal Sahni (3) ™R (4) draa gH
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134 Match List T with List 11 :

135

136

137

List-I
A. Alfred Hershey L
and Martha
" Chase

List-11
Streptococeus
pneumoniae

B. Euchromatin yl)- Densely packed
_ and dark-stained
C.. Frederick Efﬂl. Loosely packed
Griffith W and light-stained
D. Heterochromatin ;'1_\’. DNA as genetic
5 material
confirmation

Choose the correct ans§yer from the options
given below : |
(1) A-I, B-1V, C, D

(2) A-1V, B-lI, C-1, D-lI
(3) A-LV, B, C-I, D-1I
(4) A-lL, B-l, C-1V, D

Neoplastic characteristié§of cells refer to :

A. A mass of proliferdtihg cell

B. Rapid growth of célls

C. Invasion and damgge to the surrounding
tissue it

D. Those confined to Q(jginal location

Choose the correct angwer from the options

given below:
(1) A, B only YA, B, Conly
@B, C, D only.

(3) A,B,Donly
Given below are two statements :
Statement I : The DNA fragments extracted
from gel clectropho:f_ sis can be used in
construction of recombinant DNA.
Statement II : Smaller'size DNA fragments are
observed near anode while larger fragments arc
found near the wells in#dn agarose gel.
In the light of the above:§tatements, choose the
most appropriate answer;from the options given
below : o
(1) Both statement | aé[q statement 11
are correct :
(2) Both statement [ and statement 11
are incorrect
(3) Statement I is correct but statement 1
is incorrect L7}
(4) Statement | is incprrect but statement 11 is
correct i !

Match List I with List ]

List 1 List I1
A. Adenosine I Nitrogen base
B. Adenylic acid .
C. Adenine ikl Nucleoside
D. Alanine IV.§ Amino acid
Choose the option with all correct matches.
(1) A-lIL, B-1V, C:I, D-1 "~
(2) A-li, B-1, C-1V, D-I
(3) A-ll, B-II, C-I, D-IV
(@) A-lI, B, C-1, D-IV

45_Hindi+English |
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134 el & Th-11 & @i frar &t
I

s o T g P i ¥ -
Al

-1

A, as et ol 1. Belisw
iyt 39 2t

B. gwrfe Ji ey dmady
gy ol me et

C. efts fuften I, dd-am 49 ot
™~ & afirifaa

D. ¥R TV, S
O ardfus vl %
Pk

I R My faed § & w6 o g

(1) A-L BV, C-1, D
(2) A-IV, B-lI, C-1, DIl

BT AV, B-lII, C-I, D-II

(@) A-lIL, B, C-IVgD-1 %

ag gt et Byt B oF 79—
B. ®fReei & daghs ~

C. TEu ¥ Fad GLba ath o aftr e

D. 7@t as A R
i fom T Rt 9 I G
() ¥aAB ) ¥a@ A.B,C
(3) %@ A,B,D (4 &= B,C.D
136 4 & wu R ¥ M)
Ty | ; ggrre A Y St S & deae
ﬁqﬁ?ﬁﬁms’r@qwﬂs}_ﬁﬂﬁﬂmmmwn
el ¥ '

Fu 11 : B2 A & \ wvsi & s & sz
e T & wafh a9 |yg) i o A gl & e
g A ¥ o

suda Fu & ones, Ad R m el ¥ 8
AR T I YA

b FEA | ol e 11, 3 ) ¥

(2) U | ofx e 1, S e ¥

(3) @y | e ¥, oy e 1l e R

(4) @ud | e ¢, tw-i?;muﬂllwé’l%i

137 & Lo @i 11 & and Pram $ift

-1 wit -
p S a1 T
B. ama Ul [
C. & i, %mm
D. UarA viV. P{‘s’ﬂ‘l ard
M e o famedt F @ W gt gfu:

(1) A-lll, B-1V, C-I1, D-1 %

(2) A-HIl, B-IL, C-1V, D-Ix

(3) _A-Ill, B-I1, C-1, D-1V
A-11, B-1II, C-I, D-1V
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138 ionsider the following :

The reductive division for the human
female gametogenesis starts earlier than that
of the male gametogenesis.

B. The gap bcl\%_é_én the first meiotic division
and the second meiotic division is much
shorter for malés compared to females.

C.  The first poldr-body is associated with the
formation of the primary oocyte.
Luteinizing Harmone (LH) surge leads to
disintegration of the endometrium and onset
of menstrual bleeding.

Choose the correct answer from the options

given below :

(1) AandB are true (2) A and C are true

(3) BandD are tﬂ:l}t' (4) B and C are true

139  All living membersiof the class Cyclostomata

are: i
(1) Freeliving -~ (2) Endoparasite
(3) Symbiotic 53 (4) Ectoparasite

140 Given below are n:gg'starements : one is labelled

as Assertion (A):éﬁd the other is labelled as

Reason (R). LM

Assertion (A) : The primary function of the

Golgi apparatus is to package the materials made

by the endoplasmic’reticulum and deliver it to

intracellular targets and outside the cell.

Reason (R) : Vesiclas containing materials made

by the endoplasmicireticulum fuse with the cis

face of the Golgi;apparatus, and they are

modified and released from the trans face of the

Golgi apparatus. e

In the light of the ahove statements, choose the

correct answer from the options given below :

(1) Both A and Rldre true and R is the correct
explanation o .

(2) Both A and Rfare true but R is not the
correct explanation of A

(3) A istrue but R is false

(4) A is false buf R is true

Match List I wilhfﬁtist II :

List I i List II
A. Scutellum § Persistent
N nucellus
B. Non-albumindis II. Cotyledon of
seed iy Monocot seed
C. Epiblast £ L. Groundnut
D. Perisperm 3= IV. Rudimentary
cotyledon

Choose the option with all correct matches.
(1) A-L B-III, C-1V, D-I
(2) A-1V, B-l1I, C-I1, D-
(3) A-1V, B-llI, C-l, D-II
(4) A-ll, B-IV, C-l11, D-I
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141 E‘f'lghﬂiiﬁ Ilﬁmaﬁmaﬁhq :

fretfafaa 9T B |
A. WFE e k2 Rrsirar e
I g Bl i B ¥

i oAt T G e & drg

B. wud e A el
e et 5 oo 4 ot & o g
& BT E10y

C. v sy fytp wnafies oe & P ¥ g
(4 ¢l

D. it (Ffmfi e @ efiis T
¥ o % fraved ST I 91d & yrey
1 3T o wrar ¥ -

He fro Mo fra i 4 @ AT g ¢

iy AdtBuERE (2 AsiRCuwi

3) BGﬁTDHﬁ?;&{‘l) BalRCugt a

139 mﬁ@ﬂ--lwmﬁﬁﬁi
‘%‘* (2) SrgTeET

(1) T

LY
() wEE Ay ) T I

=i
140 v 2 ya XU g § ;U ol At (A) FET

T gEt 1 7% (R) & &9 & Awitea e &

AYFYT (A) : ool SUHTT H JEF &d siada]

anferesr & @ 2 (aed) Y dafted FT s

WHW;@T%W%WWW%I

o (R) : sieded] s arar i et o sfead

et SUHT . el A gftva @ o 8, o ¥

FIART ST gt TTH & ziw Ry @ Frfe @

ST E1 in

ST Byl Fsqeie ¥, R fro o R | @

W A B gl -

(1) Aot R 7 ¥ ol R, A o 5 =rem ¥
A 3T R 31 5 & A R, A 2 ) @En
TdE U}

() Awa? A R o 3

(4) Am%?y&aam%

Ty T 10
A T ol L ke dien
B. M-uefiggdm 1, TR G @
ClELE
C. it (qiem) 1L o

D. wfopmy @) 1V, sragd S
e R e Rrwi & @ wh wac g
A-IL, B-1II, C-IV, DI
() A-IV, B-IIL, C.1L D1
(3) A-IV, B-III, C-I, D-1|
(4) A-IL B-1V, C-III, DI
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142 Given below are two statements : one is labelled
as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : All vertebrates are chordates but
all chordates arefiiot vertebrate,
Reason (R) : The members of subphylum
vertebljalta possess notochord during the
embryonic periodithe notochord is replaced by
a cartilaginous or bony vertebral column in
adults. h-'«;
In the light of the, above statements, choose the
correct answer II:Lqm the options given below :
(1) Both A and R are true and R is the correct
explanation of A ,
(2) Both A and R are true but R is not the
correct expldnation of A
(3) A is true bifR is false
(4) A is false Buf:R is true
-

143 Identify the statement that is NOT correct.

(1) Each antibady has two light and two heavy
chains. IS

(2) The heavy and light chains are held together
by disulfidg-bonds.

(3) Antigen binding site is located at
C-terminal region of antibody molecules.

(4) Constant region of heavy and light chains
are locategﬁ}t C-terminus of antibody
molecules. 0

144  Silencing of speciic mRNA is possible via RNAi
because of - _;
(1) Complementary dsRNA
(2) Inhibitory SSRNA
(3) Complementary tRNA
4) Non-comp]i::nicmal}' ssRNA
%

145 Genes R and Y follow independent assortment.
If RRYY produce round yellow seeds and rryy
produce wrinklegygreen seeds, what will be the
phenotypic ratiogf the F2 generation?

(1) Phenotypicgatio - 1 : 2 1
2) Phcnotypic’ltgtm 23 148
(3) Phenotypictatio-9:3: 3:1
(4) Phcnotypic%io -9:7

146 Histones are enrl&fled with -
(1) Lysine & Afginine
(2) Leucine & Lysine
(3) Phenylalanine & Leucine
(4) Phenylalanine & Arginine

147 The first menstruation is called :

(1) Menopause (2) Menarche
(3) Diapause -« (4) Ovulation

45_Hindi+English |

142 R waa Ro ¥ : s & afw (A) o gEt
@l & (R) smifeea fomar mar &1
FEA (A) @ B HAGDH! @ & Tt T B
mﬂmﬁﬂﬁ%ﬁ&g" 1
F (R) : FIeo) S9aY & W & g T guiid
sraren ¥ ar_ Ad'E, gaw aaen § g oy aftad
Sruar suiias dgges o [ Bl Ol &1 e
?mﬂ%@mﬁ,ﬁ%ﬁqﬁmﬁﬁ

T 1)
T A 3T R @ T ¥ ol R, A @ wé amern #1
(2) A 3t RaMT o €, 9tg R, A &l w8l e
el %1
(3) AgdE, g R ama
) Am%,ganmﬂ:l

mam:r#ruv‘a‘thl
(1) nﬁmg&%&fé(ﬂaﬁaﬁﬁ)ﬁﬁwmﬂﬂﬁ

wwE TR ¥
(3) witrem (T=Erery) derdeue wiacel argst & di-
HqAF ) &= gt e grar #)
Y uftrah argel ¥ d-wmws av A it WY
sgenal @1 et & g ¥
iy
144 Pafyre wremroam &1 were (Ffssao) smeag
AT % Aot R Prafafea oo @ avE ¥ -
MY 97w ATy (dsRNA)
(2) g% vauHdieay (ssRNA) |
(3) @ e (tRNA)
) g qé&lhm (ssRNA)

™

ﬁﬁqRaﬁTYaﬂiwmmﬁwmﬁtmﬁ:
RRYY T, 9t der Sea=1 & & ot myy Flar,

# Ao s B E, @t F2 0 @ wrfefis (s

]

yedl/gya wedl) 8 = gm ?
(1) el =1 x2u]
(2) e qua -3 : |
Mﬂﬁﬁ?&ﬁﬁ -9:3:3:1
4) l#iﬂ%ﬁﬂi‘ -9:7

146 &@wﬁ%ﬁﬁﬁ&%-
T A S A
(2) wEA S wTEE
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D
1\.
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148 Match ListNM I with List - 1L
List -\ List - 11
A. Hearnt™ 1. Erythropoietin
B. I\'idne"}_f* Il. Aldostcrone
C. Gastro-intestinal 1lI.  Atrial natriuretic
tract factor
D. Adrepal Cortex V. Secretin
Choose t orrect answer from the options
given beloyy:
(1) A-llL, B-1, C-IIl, D-1V

(2) A-1V.)'B-lI, C-II, D-I
(3) A-lL Bl C-1V, D-ll
4) A-IH{R-]. C-1V, D-II

i
[y4]
w0
5 e &L
148 - Lo @ 01 & W '
w @‘F":ﬁ e n
A‘ &ad ™4 I. Eﬂiiﬁqﬁ%
B. s=5 v [ qeSed
C wevdmua 1L R ARgtee
HH (TLIIE)
" D. IV, @&t
) o o @ wh TG ¢
1), A-II, B-Iy:C-I1l, D-1V
(2) A-lV, B-iII, C-11, D-1
(3) A-l, B-1llzC-1V, D-II
A AL B L1V, DI
149 mﬁw#&ﬁﬂmm%=
(1) afrﬁrméjjm)(z) FEUSIEH
quIdSTIEd 4) wefes wgE
150 ﬁmﬁwﬁaﬂﬂfﬁi |1 0 GIE W SAEdhdl B HEE
¥?
1 gm2 ¥ (2) KCalm

149 The prole;ﬁ;fﬂion of an enzyme is called :
(1) Cofa (2) Coenzyme
(3) Apoenzyme (4) Prosthetic group
150 Which ofqlgfollowing is the unit of productivity
of an Ecos&i}rem?
(1) gm=2 (2) KCal m2
(3) KCalg™ (4) (KCal m2)yr!
151 Sweet potgﬁ and potato represent a certain type
of evolution! Select the correct combination of

terms to e{grlain the evolution.
(1) Analégy, convergent

(2) Homology, divergent

(3) Homology, convergent
(4) Anahzg}g divergent

With the help of given pedigree, find out the
probability*for the birth of a child having no
disease and being a carrier (has the disease

e, S

152

mutation Tl one allele of the gene) in F
generation{\d 2

(3
L TD é
FJ [m d’)
D Unafﬁ:c?m male
N
. Aflectedrpale
@ Carrier hate
™
O UnafTected female
. Affected female

(1) 1/4 (2) 172

(3) KCalmB, 4 (KCal m2)yr!

%ﬁ%lﬁwm TS & e 98 & wE waeE
(2) wHwEET, sqErd A

(3) wHOE, A

(4) yeuEya,

152 m&%{ésﬁ%}aﬁm F, 9rd & w=it wafa
z raiud
1.

F e i aEs (e &
i &) {' B G|
-

Fo

(1) 1/4

e n

3) 178 (4) Zero
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153 Given below are two statements : One is labelled | 153 a3 wum fT a0 ¥ @ um & afiwem (A) & &9 |

;i;esﬁ?:'(}i?n (A) and the other is labelled as afrr gt @ 7% (R) & w0 ¥ =mwifea fan mar §1 ,
Assertion (A) : Cells of the tdfietum possess dense A (A) 3 2T B i ﬂ T FNHEA
c}uirplasm and generally have more than one ;T‘" ST & ST FT A ¥ o s
nucleus |
Reason (R) : Presence of nltgc than one nucleus & (R) : 2den & o @ aﬂh‘a‘pm w1 gutafa g’
in the tapetum increase$™the efficiency of Prafa & & ﬂﬁmaﬁmmﬁ
nourishing the developingsthicrospore mother & a5 %
cells.
In light of the above sta %ems choose the Syga HuAl & s o, %‘&h g el & &
gu])st appropriate answer the options given wél sat gig -
elow : 1) A
(1) Bot{l A and Rfare truq,apd R is the correct M WW; Sl g RJA B
explanation of A ﬁﬁh_-l
(2) Both A and R are true but R is NOT the (2) ASITREA wa ¥ R, A # H—ﬁ
correct explanation of A e T #
(3) A is true but R is false ._L&J’.Aﬂﬂ%ﬂfﬁﬂﬂm%l
(4) Ais false but R is Yy (@) A @@ t et R w9 ¥

154 How many meiotic and mlt%}ic divisions need to 154 % ufsdread (G"qaﬁ) qreq ¥ ST TR
; ) & Fera

occur for the development? f a mature female
gametophyte from the megéspore mother cell in & uftuee Hr gEAET (
an an‘glosgenn plant? t fFa et ot H"’ﬁ\aﬁfﬁw & T B
(1) 2 Meiosis ang :7; mlto STaTHAT BT & 7
(2) 1 Meiosis an ito 1 a]-&qsh T 3 Fep;nﬁﬁq
(3) 1 Meiosis and 3 Mltosg gz; %aﬂi’@ a2 g 5l
(4) No Meiosis and 2 M:t_oqw ' 3 ﬁ":ﬁ m
4) aﬂs‘% e w8 a@ E faeE

155 Which of the following IS’ﬂrI example of a
zygomorphic flower? .
(1) Petunia (2) Datura 155 ﬁ’rﬁi’ﬁiﬁ; ¥ Y $H 9 Th mﬁﬁ T FH
TIETT &7

s - (3) Pea (4) Chllil
(1) Tt (2) gﬂgﬁﬂ

b

156 After maturation, in primany lymphoid organs,
the lymphocytes m:g‘iateﬁ 'mteracnon (witr} BT (4)
; antigens to secondary I wid organ(s

tissue(s) like: Y wp 156 ufiusas & ugdar| H&d a‘eﬁﬁmm‘l o, WHIRT]
. A. thymus B. [bone marrow Prfafiae fadras sdra arifeasl 3 R ¥
£ C. spleen D. Emph nodes ar=r:feman %W o :

E. Peyer’s patches A uEwE A Ho x

Choose the correct answérfrom the options C om %

B ont éﬁ C onl E. Sty

(1) B,C,Don (2) B, C only

(3) EABon]ff (4) £iD, E only A g o famedi ¥ & wé

(1) %@ B,C,D (2 B,C

(3) ¥adE A, B 4 aw C, D, E

157 Given below are two statements :
Statement I : Fig fruit is a non-vegetarian fruit

as it has enclosed fig wasps in it. 157 4 & wer R g ¥
Statement II : Fig was d fig tree exhibit N i .
mutual relationsh :p&ﬁs fig b]:»?r';: completes its life F1; U ArEeTl e ¥ oieiy 91 56
gets pollinated by it B &1
Fa 11 : ofeiik & Sl Siefit &1 gl welusiiva wea

I_yc:lvat in fig fruit and fig fraft

wasp s

In the hght of the above stptements, choose the waféa & ¥ wife sieht ot o Trﬁaﬂ s S
most appropriate answer (an the options given »Ea A 0 w7 ¥ ol oo etk ar
? F)IO‘EQIII statement | and §tdtement II qufia e &1 Al

are correct T3] Eﬁﬂﬁﬁﬂﬁ&imﬁ.ﬁlﬁf&qwﬁﬁﬁfﬁﬁ
(2) Both statement [ and statement Il . ﬁ

are incorrect o 1
(3) Statement | is conectﬁt statement 11 2) :;F{ : $ ::_:_2 %: 33[ ﬁ’r_;t'm

is incorrect
(4) Statement | is incorrect but statement I is (3) ®ud | wh ¥, ot wuw 1 T X

correct (4) w1 Tea ¥, qrg e 11w 2
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158 What is the main function of the spindle fibers
during mitosis ?
(1) To separate the chromosomes
(2) To syhthesize new DNA

159

160 Consider the following statements regarding

161

162

163

NN
L

(3) To repair damaged DNA
(4) To fc'gulate cell growth

3\

Which one of the following is the
characlerlstlc feature of nymnosperms‘?
(1) Seeds are enclosed in fruits.

() Secds* are naked.

3) Sceds are absent.
(1) Gymn”ospenns have flowers for

reproduction.

function :of adrenal medullary hormones :

A It causmncnon

B. It is,a-hyperglycemic hormone

C. It causes piloerection

D. It increases strength of heart contraction
Choose ;he correct answer from the options
given belp’w

(1) C and D Only

(2) B, G-and D Only

(3) A, Cand D Only

(4) D Only
Why can t_ insulin be given orally to- dlabetlc
patlenls° i
(N Human body will elicit strong immune
response
(2) It will be digested in Gnstro Intestinal (GI)
tract;
(3} Because of structural variation
(4) Iis bloavalfablln_y will be increased
i
Match L:st 1 with List II.
List I List Il
A. Pteridophyte ~“1.  Salvia
B. Bryophyte II.  Ginkgo
C. Angiosperm . Polytrichum
D. Gyimosperm IV, Salvinia

Choose the option with all correct matches.
(1) A-ILB-1V, C-II, D-I
(2) A-1V,.B-lll, C-1, D-lI
(3) A-ilgB-IV, C-1, D-II
(4) A-W,!B-lll C-il, D-I

Who propnsed that the genetic code for amino
acids should be made up of three nucleofides?
(1) George Gamow (2) Francis Crick

(3) Jacque Monod (4) Franklin Stahl

45_Hindi+English | 42

158

159

160

ALY, BIIL C-I,

me

i Pror % <o T el geA w0 E?

B TRt @) guE s
(2) U ST FI e HN

(3) aiftrre ey A FOHA BT
(4) aﬁfﬁmqﬁé’mﬁuwm
ﬁmﬁrﬁaﬂﬂﬁzﬁ?ﬁﬁwﬂﬂﬁaﬁﬁhmﬁm

%? s—...
) a‘mwﬁﬂmﬁmﬁ&zx

<27 i errga IR E

(3) 4y erquiaa g% _

(4) ;ﬁrﬁwﬂﬂw%mﬂgﬂﬂﬁ%
mﬁmqmalmﬁasméswﬁﬁﬁﬁfam
HyAl g faa #wY - :

AL ¥ aitE @ gatt @ wan B € X

B. ‘ﬁ;qwmmﬁﬁﬁ(ﬁﬁ*‘?ﬁﬁm)
it 2

c. ‘é’wmaﬁmm%

D. ﬁﬁﬂwaﬁrm:ﬂm%

#ﬁiﬁqwﬁﬂﬁfﬁﬁﬂﬁm?ﬁ

(1) {¥ew C ot D

‘_;..a/%aaa C sl D

3) mA CcaikD
(4) FHaE DX

(&) wegie it ) e e 3 s @ @ T @

HoHdl E ?

i orii waw gfoteh agfisar am

e st (TeewEaw) (GI) vy # g smam
(3) iETaATEE UREdad & FTC0
(4) Eﬂﬁﬁawawmaamq-ﬁ

162 @lm@[l#muﬁmﬁaﬁﬁq

igh-1 11
A, 2fEwEe 1. &ifeerar
B. @R 1. Ffist (fim)
c. afarared L. Gieftzrges
foriread IV. ditfrar
ﬂﬂﬁqmﬁmﬁﬁuﬁ g
(1) ;AL BV, C-II, D- ;‘.

I

Il

(3) I
I

I, D-
‘A-III, B-1V, C-I, D-
(4) I1, D-

iA 1v, B-111, C-II,

163 &m‘ﬁﬁmﬁﬁmmﬁsmm%mm@m

oz (Sirem @rs) O fdiergst @ o g afee ?
(2) witod firw
(4) Wl wEw

it | Contd...
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165

166

167

168

Match List I with List 11 :

List I List II
A. The Evil Quartet 1. Cryopreservation
B. Ex situ MOIL . Alien species -
conservation Lo invasion
C. Lantana E_JIII. Causes of
camara b biodiversity
o losses
D. Deodo Nw Extinction

Choose the option with all correct matches.
(1) AL, B-II, C-I, B4V
2) A-Hl, B-I, C-1I, DIV
(3) A-llI, B-1IV, C-II, D-I
(4) A-II, B-II, C-1V, D-I

Which of the followingﬁomones released from
the pituitary is actually synthesized in the
hypothalamus ? g

(1) Luteinizing hormone (LH)

(2) Anti-diuretic hor[r\gne (ADH)

(3) Follicle-stimulating hormone (FSH)

@) Adenocorticmrop::ii'c hormone (ACTH)
Role of the water vas'c'ular system in
Echinoderms is : )

A. Respiration and Locomotion

B. Excretion and L motlon

C. Capture and tranfp;:rt of food

.D. Digestion and Re3piration

E. Digestion and Excretion
Choose the correct 3§wer from the options

given below : :
(1) A and B Only
(3) B and C Only

A and C Only
B, D and E Only

Which of the followf'g type of immunity is
present at the time of birth and is a non-specific
type of defence in the human body?

(1) Acquired Immunity

. (2) Innate Immunity i3

(3) Cell-mediated Imifnity
(4) Humoral Immunity’

R _
In bryophytes, the gemmibe help in which one of
the following? g

(1) Sexual reproductiéh
(2) Asexual reproductipn
(3) Nutrient absorptionf
(4) Gaseous gxchange

1
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164 @ 1% w9 o= 1 &1 femr e

T @
A. Kﬁﬁﬁﬁz‘i‘}l P afteer
(Fraifiereasm)
B. wﬁzfmmarﬁiﬂ Fq&aﬁqﬁ-q‘fq,-;
e ﬁr‘c’ﬁr%wn ’”’m ﬁa&:ﬁumsﬁmﬁr
& (=1f) % @
D. st }%W P ferefrat
A Ry my et §'d T gh

(1), A-IIL, B-II, CI;D-IV %
A-1l, B-I, C-1L, D-1V

() A-lIL B-IV, C-1I, D-I

(4) A-lI1, B-II, c-_I%, D-I X

165 drqu 5y A wRE A @ e arafrw A

RO o Hs@fﬁm ERTE?
(1) wgdrmghem m‘h (LH)
A2 TR -TRgifeE A (ADH)
(3) witdea- ﬂzgﬁri%'l Tt (FSH)
“) qﬁﬁmﬁmm (ACTH)

166 wﬁﬁzﬁﬁﬁrﬁm—aﬂﬂhw%

§IE ST 9w
m&ﬁ'(n ('ITH'-‘-[}
Wﬁ@ﬁ_ﬁﬂﬂﬁ
qree Sl s o
YT BT TR
ﬁﬁqmﬁmﬁﬁ&ﬁﬂﬂmgﬁ

(1) ¥ A3 B ¢y (2) Faw Aot C
(3) %aaBWCgWB D 3t E

LS~ g P

167 Wﬁﬁﬁﬁ%m%mwm

ﬁ?i‘l%&ﬂ*{tlﬁﬁsrﬁ?ﬂtmmqamﬁrﬁmm
%7 i

(1) saifera wfecen

o2y wEw R gy

(3) @WE-mitaw ghyean

(4) aw wkwen (o

-
168 amwEe ¥ S (YFe)frtatas & § fray wemar

EIGR A o
(1) dfee= i)
2y it s N
(3) U srasiqer ¢
- (4) i fafg
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169 1In frog, the Renal portal system is a special
: i Gl

venous connection that acts to link : 5y Prefafad Gl

(1) Liver nnd}%ﬂestine \J‘H/W e m;g

(2) Liver nnJ& dney o g T

(3) Kidney “Lﬁ intestine | _ ik

4) Kidney all__‘ [ower part of body 3) q-,:m:j afre &1 ;ﬁ:;

! (4) g AT arﬁ‘tm Forgar AT

170 Given below argtwe statements : :,_{

Statement 1{% In ecosystem, there is * :
irectional™low of energy of sun from | 170 #ra & B fag g ¥ . B
mml:mﬁ&uﬁfmﬁﬂﬂ.qdﬁmdmmq

unid .
producers 10 CONSUMETS. .
Statement II : Ecosystems are exempted from aqvraat 8 uafesiig Fare e &1
nd aw of thermodynamics. e 11 : TR ey wortad) % A faam
In the light of the above statements, c_hoose. the & ot ¥ *ﬂ
mostnpprnpri&ge answer from the options given wjaﬁ ool ¥ an?ﬁi:;ﬁ S fro T fradl A &
below : o .
(1) Both statément | and statement n A 9 ITl ?F:f _ '

are correct]! e (1) & I@mell,ﬁ:l’{as“r%t
(2) Both staténitent 1 and statement 11 @) wuA 13T agu?t_i![, a1 Terd B
. are inconiy : Ly e 1 @ ¢, aog F 1 T R
(3) Sla:em,en{_!éis correct but statement II @) w lwaa P —" < b

is incorrect : ’
(4) Statement [ is incorrect but statement Il is i3

correct 171 =R % ary ¥ Frefiad ¥ 8 & 9 59 T &7

, - (1) e e omamg e Rafer & whe o &
171 Which of thca[olluwmg statements about i B

RuBisCO is true? (2) TEE T TESEEES B GTET ST &
(1) It is activp-only in the dark. - for arftres dyar(aefd) ad ¥ X
(2) It has higher affinity for oxygen than carbon () TEIEF ‘Hﬂﬂﬂf‘ 3 anre s o X

dioxide. 5
boxidel ¥X 4y RuBP % araifreelia 1wt we

(3) Itis an edgyme involved in the photolysis

of water. (%

(4) It calalyzsﬁthe carboxylation of RuBP. @ Preffeg A & @ § daEy W FRET & g
172  Which of the following enzyme(s) are NOT Y g:;j

essential for £gh cloning? I A. R W‘:ﬁ

A. Rcslrictio&!:nzymes B. 3T @3 e

B. DNA figa‘sf) Cc. fwu =

C. DNA mutase ] ‘EEE'H x&“‘\f

D. DNA recombinase D. ¥ g ;X

(Eh DN#'I\ polymerase E. dru defmit ¥

oose the ¢ / i e
ofrect answer from tha_: upl-lons 3% R o P ﬁ?é L

given below : (V) b
(1) CandDonly (2) A and B only < Faw C, D (2) %@ A, B

(3) Dand Eonly (4) B and C only (3) @aw D, E (4) Fad B, C
f o [ Contd...
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i (3) Cand D only

173 Read the fol

lowj
and develop '8 Statemenys on
A, ! :

P ment Plant growih
arthenoegpyy,,
B. #

¥ can he induged 1 auxi

: u

plztr: %l:u\wh-i'égulaturs can be its:volzlgs}n

& B Notion :353‘"\'&(:" as inhibition of grawil
- D dtchrcntlﬁ:ibn IS 4 prere uisite f ;

L di erentiation.. 1 =
. scisi i

E. Apical znan:lid:ai;:e pI:.: i L o

lateral buds, ;. FrUmSIER the growth ¥

Choose the option“_*wilh all co
(1) A, B, Only s @) A e
() A, D, E'only™ (4)

Which factor is im
transcription? 15
(1) @ (alpha) -;:; @) o (sigma)
(3)  p (rho) 19 @ 7 (gamma)

e

rect Statements,

174 portant for termination of

175 Frogs respire in Water by skin and buceal cavity
and on land by skif

» buccal cayi and lungs,
Choose the currei:{%answer from tt)l::t follow%rr:g z
(1} The statemeff js true for water but false for
land N
(2) The statemeht is
environment
(3) The statement is fa
land

(4) The staten]ﬁu is false for both the
envi runmenttx)

176 Twins are born tc‘i‘g family that lives next doar
to you. The twins'are a boy and a girl. Which
of the following fiilst be true?

(1) They are mdidzygotic twins,

(2) They are fratégnal twins, o Yondd

(3) They were gorceived through in vitro
f'cnilizzltion.,‘_.! . )

(4) They have 75% identical genetic content,

ﬁﬁe for both the

|
Ise for water but true for

177  Which of the following microbes is NOT

involved in._?thetﬁreparalion of housechold
products? 3
A. | dspergillus 119 er

B. Lacmbam'ﬂn‘.“_
C. Trichodermd: ﬂoa"yspo{'u:m
D. Saccharomydds cere.}‘rsrcm .

; fonibactédivm sharmanii )

E.hoo‘::ofhu corrgft answer from the options

iven below: g
(gl) A and B onl (2) A and Conly
(4) C and E only

_ 48
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3) awﬁﬂr&mmpﬁﬂmm&l
(4) T T5% ey oifgefies ueud &
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Match List - 1 with List - IL

List - 1 o List = 11
A. Progesterone tﬁ I.  Pars intermedia
B. Relaxin L& 1I. Ovary
C. Melanocyte & 1I. Adrenal
stimulating haymone Meduila
D. Catecholamines IV. Corpus luteum

Choose the correet answer from the options
given below : 3 .
(1) A-TV, B-ll, G&J; D-II

(2) A-1V, B, C:lL, D1 .
(3) A-IL B-1V, C-1, D-lll
(4) AL, B-I, C-1V, D-1

LY

179 . The blue and white selectable markers have been

180

developed which{differentiate recombinant
colonies from nonérécombinant colonies on the
basis of their abilify to produce colour in the
presence of a chrgmogenic substrate.
Given below areitwo statements about.this
method: o
Statement I : The blue coloured colonies have
DNA insert in the plasmid and they are identified
as recombinant colio*nies.
Statement I1 : Thé colonies without blue colour
have DNA insert in the plasmid and are identified
as recombinant colonies.
In the light of the above statements, choose the
most appropriate answér from the options given
below : g* 2
(1) Both Statemen I and Statement I

are correct ... .
(2) Both Statemt;qt‘ I and Statement 11

are incorrect %' :
(3) Statement I is*correct but Statement II is
incorrect  i{}
(4) Statement [ is\ihcorrect but Statement Il is

correct g}

Which one of the foliowing equations represents
the Verhulst-Pearl Logistic Growth of

population? i
M ﬂ-r(—ﬂgj—xﬂwj
de K
N KILN;N
—— &
@ < N(J——m ) |
o Lo m(2K)
dr N
dN r—K\:
2 =-N
@) dt [ K J
45 Hindi+English | I
\ 1Y Vo |
S L

)

178 - 1o - 1 & e =t
qh-1 2 T - 11
A, i L o i
B. frafrE f’: .  svsm
C. ﬁﬂlm MI. ﬂm‘iﬁmqm
IS
D, Fa@reieEgy V. W s
4 (i wgfeam)
#ra fo T Pt A & A0 S G

179

A-1V, B-11, C-I, D-I
(2) A-1V, B-lI, C-1IL, D-IX
(3) AL B-IV, C-1, D-III
(4) AL, B-IE{C-1V, D-1 A
3

v ofre Wik i R @ e gan ¥

Bt (Prael) B g i 3
et (FR) T 6 gafef ¥ 1t
& e u{ ferr Fd 2l
3 < T R ¥
o 1 : A9 CLE BIARE ¥ s ¥
waffar (362) et & ofT Tl Tear i
Hrepr % w9 B T IR
e 11 2 farm i 1 Y aveieivn & s  dem
waffer €l & @i gd TearT JET dwn @
w0 ¥ B &1 OO0
_ngmmﬁﬁﬁ“ﬁﬁﬁﬁ,ﬂﬁ&qwﬁmﬂ
FaR TIg Al g
(1) w1 ol e 11 <R = ®
) o | ol e 11 2R T &

3) auﬂmﬁ“?ﬁmzﬁm [ et ¥
A wr | e it Bu 11w R
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d 7.9
o) ﬁ:rN%E_N]

dt K

i
3) d—N=rN‘L_K]
;o N
dN r—-K
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